SINGLE PPM

sSeOAM

U7 | AT DT 2 A
SEOAM MACHINERY INDUSTRY CO.,LTD.



seoAm

SEOAM MACHINERY INDUSTRY MAIN

Seoam Machinery boasts the highest quality and precision product.
It WS | LOEREEEITE e b N eta s 870D,
SEOAMIZ ‘BRERE ¢ "SI ERR 435> (H ) £ 7.

M7AE "Fuel F2'n "nYUE MF'S AELCH

We will make a great effort to satisfy customers with self-confidence of the best.

By manufactured high quality Gears, Power Chuck & Hydraulic Cylinder, Curvic
Couplings, and Gear Reducers, The SEOAM continually make effort for customers
that they will look for SEOAM to be believed our reliable capability from customers
again and sincerely promise with customers to support products or services.

DB, REraB.
et BARE U, AFE, WEHL wEnE, WESSE, RetlEd AN
SRR ARE—REE S LOERRTS, ARCHSFAFRATIM RS 1.

EalWHIBBLDTRELAICL £7.

YT, NT—Frvo, HELU K-, A-Eshy T T, BRBEEAEELTU
5SEOAM (3 A e W H E BHARM H% TIC SZHEIE L TEA bh 385 — ER 538
He 2 & h BHRL £7.

=

POWER CHUCK HYDRAULIC CYLINDER DRAW DOWN CHUCK SPECIAL CHUCK

2 | www_seoam kr CHUCK | 3



seOAMm

HISTORY OF SEOAM

1978.02

Egtablishme nt of Hwache on Gear WoksCo.L 4.
B S U

BR ¥ 7 TE£ B SHHT

827/ YR A SN MR

1980. 04.

Merged with Hwach eon Chuck Co., Ltd.

St RFERRSHEH

BRF v TE(H)BINE 6

S} &Chuck SH(F)E+ &Y

1986.07.

Made a contract of tech nica | cooper ation with Howa machirery. Ltd.
SBEHOWATIM BZEEA SIEEE

A7 HOWA (tk) & & i EAR #

UEZHOWASA(F) 2 7| £ A<t

1992 02.

Exported Power Chuck to Howa machinery Ltd.
1 FAE O BE HOWAYIH,

NT —F vy 7% BAK HOWA ~BH

Power Chuck Y& HOWA £&

1995.01.

Moved to new factory in Hanam Industria | Complex.
M EAREIUEERMHL

NF > T¥ Bitbic THHER i

SIEHSERZ SFMF0|M

1996. 12

Achieved CE Mark.

5 BN C L

3-0y "NRERECE ¥-I7BEF

Europe 2t 4 C.E Mark &S

1997.12

Appointed as an excellent company for the cooperation of labor & employer.

R RAPE RN B iR S (553 SR E)
Sl HERE EHE (G EAE)
AR 22| MY (=SS 3T

1998.09.

Achieved ISO 9001 cer tificate.
#5150 9001 EPF FEWNT
ISO 9001 REIME

IS0 9001 Q1B &S

1998.11.

R&D center established.
R& DL i3z

13 (4B R BTa% AL

7R s HE

1999.01.

Exported Power Chuck to ge rmany.
HHFET DEEE

Power Chuck % F 1 v ~E§H
Power Chuck S¥4+&

2000. 10.

Changed company name into “SEQ AM’
28] BEdn AL ikl s 3

BER¥ 75 SEOAM ISit4 2 LR
SIH7[00IM M| AS(F)ZE 43 HE
2001.04.

Exported Power Chuck & Cylinder to USA.

PN FEN DM L OEEE
Power Chuck & Cylinder% % [E ~dgiH
Power chuck & Cylinder O] =&

2001.05.

Appointed as an excellent medium & smallsizzd company by Prime Minister.

IR B B T o A ok
R P E ARBR (EBNEAR)
28 FW|RIY S Y(FRER)

04 | www _.seoam kr

2001.11.

Awarded a prize by president in commemor ation of TRADE day.
TR B R IEESM 20

B9 ORAKR#HBARHZE

S| hEHA 24

2003.05.

Exported Powe rchuck & Cylinder to China.
N FER B D ES

Power Chuck & Cylinder % s [E ~dgH
Powerchuck & Cylinder 3=34&

2004. 01.

Exported Powerchuck & Cyinder to South Africa.

) FER B H O 2/ JEERE

Power Chuck & Cylinderx @7 7 ) /1 #F0E ~dgH
Powerchuck & Ciincer HotZ2ptasls £+

2004.11.

Awarded trophy for exports over US $3Milii ons and

awarded recognition from Korea president

SRR ESAE O EMER 130 0% il AR 2 1
REBEARBEZE RUS00S F VEFHZE RE
CHHO| AL CH S 4 4+ H 3002HE EE &4

2004.12.

Awar ded Materials and Componre nts Technology pr ize by Ministe r
of Commer ce, Industryand Eneray.

RIS e REp b Sis MR oo R B 22
EEEERA BE (ISR M) 2 E

AHRARPRIE 2R R EAT T EM) A

2005.11.

Awarded trophy for exports over US $5Miliions and

by Minister of Commerce, Industy and E neray
FIRRAZ Bo00pE L0 £, 7= Ik e B2
B 50 H500 7 FIVEHERER UEEER AR B2 E

2oi0| U 5000 BE 24 3 ANRBIY 44

2006.01.

Developed high speed Com pensat ng C huck & Hydraulic C yii nder(8,000 rpm)
Fr &R A B i sl 50 2 L (8,000rp m)
RBODHERSRT v v &&RY ) X - FH8,000rpm)

A HAY T4H g DEMEH J42H(8,000rpm)

2006.03.

Awardedam odd taxpayer prize by Minister of Finance and Econ omy
SRRSO LM VB S KE)

RS B (BT EA D)

QLN SRS

2006.12.

Spatemsregsleeqfa Campensatng Chuck ec.Korean Intelectial PropertyOfice)
BREFEU RN FRE SR EAT)
TEAE D SHRE RN 7 — F v v SH05¢ oA SRS BT

Mto] A2 HAY LA 4 52U SHAS(SE)

2007.04.

Approvd components &materal campary cerifcate byMinster of Commerce,
Idustry and E nergy

RIEE A mi i = 1l (= A fFEbKE)

EB SRR MBI AT (A RAE)

FEAN ME7|Y R (AR

2008.11.

Achived Single PPM certificate for Power Chuck and H ydraulic C yiinder
FugrPM @ EAEGE EEE & R

o2 IWPPM SRS N - Fr v o &HEY ) &)
ASPPM BHAUS AS(RUH & FYUAE)

CONTENTS N

OWER CHUCK / 08

YDRAULIC CYLINDER / 22

ANUAL CHUCK / 32

PECIAL CHUCK / 38

AFFILIATE &5

W IR ru s
— | 2T 7|3 F AS|AL
I HNAO{EMWN?OQCQUD_'&%IE&@H

e [ ESWIP ESSEPN,
HY ACHEON MACHNERY 00, LTD. Siiifhsat

| = [l ElT0 AT2[0RFASIAL
TPS KOREAC0.LTD. TPSKOREAHT 24

CHUCK |05



Based on the technical cooperation with HOWA in Japan, we developed power chucks and hydraulic kE5H i!;HOWAﬁﬁﬁ 7f<|%f'F§']% L BT 3) AR AREI L. SRS
cylinders for the first time in Korea. On top of that, finally, we achieved technology independence by BT # R S EOA%T:QE%%LEMﬁ%%%%%ﬁﬁ%%%ﬁﬁ%ﬁ%@%ﬁ
developing world-class SEOAM SERIES, which brings us significant improvement in technology and ’ \

paves the way for the world-class company.

Small but powerful! Elaboration to go with that power.
The greatest work created

with the know-how of 30 year’s history
SEOAM CYLINDER SERIES!

It will give you the best satisfaction

SAGEE, HIRES), WS LIRS R .
SOE B = Rk T ok E P T
st IBEIR I Bk A s RIEEVEE.

INE (T BB = R TA S FETa

S0ENFESE DfEFE A B> TEEA RS OEE SEOAM T—

AT YR —2 ) —X| BEMEICEERER AR 27

AR 2 202l Ju

30'A HALe| Y+~E HOF BHMARI 2|00 Azt
SFOAM CYLINDER SERIES!

nZiofe 2H A HES ERUCH

lﬁpH;

i
e ]
o Py

TS e T

AAHOWA L D iR THE AT - Frv s EHEY Y ¥ 8 - 2 BECRCBRELE L
EBL RN BARBVWEHORRERRSKEND T2 —X XD =Fry7,

HESUY 8- #JEBIRL £ L 12,

Y2 HOWATtRte| 7|2 MFE DA RAMEIHE L) 2| X2 JHL5IU T,

028t £ME I BYUUE =32l A2

MAZ 1 +F2| SEOAM SERIES It¢l &, R A RIC & S XN LSIRAELICE .

We created SFOAM CHUCK SERIES
to be the best in the world

with our skills and experience built
during a quarter century!

You can check its quality yourself.

mamLIERiRA, FEHER,

APt R—ANSEOAMFERT] HTE
JUEMAFRIRP, eI —EAEF RENAT®.
LR RTFLT)

7 B i R o B

E[MEBARMHe BEs T RAES 2B L TEA
7 SEOAM T—2F v+ v 2 2 —X| Z0REs ZBE T
SHERCEE L

304 S0 40l2 7| & FH S Hig oz
N7l 518 SEZ BRI

SEOAM CHUCK SERIES!

1 EDE E U FANR




ADNHD YHIMOd =i

BIG BORE POWER CHUCK
KBAN TR /SRAZEENT — F vy 7/DEEDY TIY X

1 - High Gripping Force By shamly increasing dynamic gripping force, work efficiency
and safety have been greatly improved 2 - High Speed Strong gripping force and
safety of performance are secured by optimal design, and high speed rotation is
achieved. 3 - Light Weight Equipmentload has been reduced by weight reduction, and
efficiency has been increased for fitful work and for both forward and reverse
operations. 4 - Durability Heat treatmentis performed to alloy steel, and high accuracy,
high strength and high durability are realized by improving lubrication system.

1. %E035  BYRERESEENNGAETFUERT2WERNE 2. BEH : AR
WHEARTBENNRERT BN LY. 3. 285 FEANEERE BIFENERINER
EXRNBEAARS. 4 WER: K FERASHRIENEENIME AUNBHARY.
HHEERRE, SEENSHE .

1-8ViEEH 2. RS 3 B 4 - MHRMHER
2. 045 MY 3723 N 47N g

Dy namic Gripping Force /#3525 /E8HiEE H 2 7 7/ SHTYHE M

3000 ' ﬁ 18000 CAH-12
@ 2500 f—— | =< 16000 —
w — | W 14000 ———=
2000 . T 000 f——
El ) 10000 '“‘H\ CAH-10
500 f——+t ey I e P
E‘; ! s % 8000 CAH-S 7 “‘*;\
1000 6000 = =
4000 ~4 = CAH06 <66
m - 3 m ] -\- \\
1000 2000 3000 4000 5000 6000 7000 B000 0 1000 2000 3000 4000 5000 6000 7000 0 500 1000 1500 2000 2500 3000
3| F= (rpm) &|H == (rpm) #H == (rpm)
Specifications /AlF&/HHEE/ AFS B
Spec. At . Thru-hole Jaw stroke  p Gripping Dia(Extend gripping) Max. permissble
OrderNO.  SPNYRN®  Diameter)  (Diameter) ;E?;"LS;;"; ThotA (2] Amkohmm input force
OHE =x37 BEH(RY) ZTAERI@®EY) =7 — 8 AzlnH
Mod el&Al o mm mm o Max % Cf Min & £ KN(kgf)
CAH-05 1AHO5 - 33 54 10 135 10 175(1784)
CAH-06 1AHO6 A2-5 46 59 1) 169 13 25(2500)
CAH-08 1AHO8 A2-6 52 7.6 18 210 11 40(4080)
CAH-10 1AH10 A2-8 77 8.5 20 254 31 50(5100)
CAH-12 1AH12 A2-8 91 10.2 24 304 34 58(5916)
CAH-15 1AH15 A2-11 118 10.6 23 381 30 71(7240)
CAH-18 1AH18 A2-11 118 106 23 450 30 71(7240)
CAH-21 1AH21 A2-11, 15 140 10.6 23 530 87 90(9177)
CAH-24 1AH24 A2-11, 15 165 104 23 610 110 90(9177)
Spec.Al%  Max. static Maxpermissible Weight GD? : _
gripping force ~ speed (With sandad soft jaws) Moment of Matching cylinder Matching hard aw  Matching soft jaw
A Ymuoted A0 ALBE M ZYEZAZE XT3 in ertia AR HE5lEx HEAETH
Mod el Al KN(kgf) r.o.m(min™) ka N-m (kgf.m)
CAH-05 36(3671) 7000 6.7 0.7(0.071) YAH-05 HJ-04A1 SJ-05T1
CAH-06 63(6426) 6000 12.5 2.26(023) YAH-06 HJ-06T1 SJ-06T1
CAH-08 94(9597) 5000 223 6.67(068) YAH-08 HJ-08T1 SJ-08T1
CAH-10 125(12740) 4200 345 12.84(1.31) YAH-10 HJ-10T1 SJ-10T1
CAH-12 147(15000) 3300 55.3 28.71(2.93) YAH-12 HJ- 12A1 SJ-12A1
CAH-15 180(18355) 2500 120 89.14(9.09) YAH-15 HJ-15T1 SJ-15A1
CAH-18 180(18355) 2000 164 1746(17.8) YAH-15 HJ-15T1 SJ-15A1
CAH-21 234(23861) 1700 235 351.1(35.8) YAH-15 HJ-21B1 SJ-21A1
CAH-24 234(23861) 1400 293 651.2(66.4) YAH-15 HJ-21B1 SJ-21A1

08 | www .seoam kr

Outward Drawing/4 EUE/ ARIRY <1 & =

SERRATION PITCH 1.5

-
=

ew
ax
L)
|
|
"
i
|
T

CAH-0405

Dimension/R~t/"T&K/A ¢ &

Item&t =S

A B
Model& 4

CAH-05 135 60
CAH-06 169 80
CAH-08 210 91
CAH-10 254 100
CAH-12 304 115
CAH-15 381 128

CAH-18 450 133
CAH-21 530 140
CAH-24 610 149

5
Model‘;’:nﬂ_‘ R
CAH-05 19.75 7.75
CAH-06 23 10
CAH-08 27 10
CAH-10 31 12

CAH-12 42 12

CAH-15 438 18.3
CAH-18 738 183
CAH-21 87.5 215
CAH-24 1175 215

................

SERRATION PITCH 1.5

Bl

@A
ac

a4

CAH-060810121518,21.24

© F G H
110 4 96 826
140 5 116 1048
170 5 150 1334
220 5 190 1714
220 6 190 1714
300 6 260 235
380 6 320 235
380 6 3302 3302
380 6 3302 3302
Pmax P min Q R S
1 -9 23 10 20
12 -1 31 12 19
16.5 -15 39 14 205
9.5 -10.5 44 16 27
10 -14 50 21 28
1 -12 62 22 39
1 -12 62 22 39
1 -12 65 25 39
20 -3 65 25 40

Chuck Size

Blank | Standard

A | adapter type

T | 2-jaw type

118
118
140
165

NN N o

oo o O

Chuck Size

Blank | Standard
A | adapter type
T | 2-jaw type

K

3-M10
6-M10
6-M12
6-M16
6-M16
6-M20
6-M20
6-M22
6-M22

U max

M40X1.5
M55X2.0
M60X2.0
MB5X2.0
M100X20
M130X2.0
M130X2.0
M155X3.0
M175X3.0

L

15
12
15
17
18
30
30

32

v
3-M6
3-M6
3-M6
3-M8
3-M8

3-M10
3-M10
3-M12
3-M12

45
60
66
9
108
139
139
170
187

M

14
20
25
30
30
43
43
60
60

20
20
30
30
30
60
60
80
80

N max

265
335
M7
545
674
82
82
98.5
1084

26

39
46
518
70
70
73
73

Blank | Standard

A | adapter type
T | 2-jaw type

CHUCK | 09

CAH-04,05

N min

23.8
30.7
37.9
50.3
62.3
76.7
76.7
93.2
103.2

54
72
95
110
11
165
165
180
180

A

Chuck Size Spinde Nose

|
=
o
=
=
~
o
T
c
o)
=




BIG BORE POWER CHUCK (SHORT TAPER)

FEENI A GOER) /S &P TR - F vy 2 (7 87 5% ~1)/ 1455 TAH(OHE 24

ogh

)

1 - High Performance and High Accuracy Adapter is attached to CAH power chuck.

Performance and quality are identical CAH and its parts are compatible each other.
2 - Spindle Direct-Mounting Type International standard A-type spindle

2-JAW BIG BORE POWER CHUCK
KBILFNE HER/2 >MERBER AT - F v v o/ 2-52 TEF2E 01 H

1 - Clamping of Irregular Work It shows excellent performance for irregular
work such as square bar, especially, for manufacturing irregular materials
using a bar feeder. 2 - High Performance and High Accuracy It has the

specification is applied to the mounting face, so it is possible to directly attach to short
taper spindle. 3+ Shortening of changing time Time of changing chuck can be
minimized as run-outaccuracy is kept upon attachment. 4 + Convenient Attachment
Option Because adapters suitable to various spinde specifications can be manufactured
and attached, the scope of application is extensive.

114547, BES : CAHEFRBRCAHES B H R S 20 SN BR TR, Bt R8s
CAHFE—H, ARHAEREN. 2 EETRE : TBRRRAER SEMMEAR T (LT RE
L 3. 8EAR ERERHTESENEERN, AEELANEEER. 4 - BT RRAR  TAUE
BE=5 SRS MEMES A TERREE.

1« BitEE BIFE 2 - 2> FVERE 3 HoE ARREER 4« BRI AR S 7y a

same structure as CAH power chuck, and guarantees excellent performance
and quality. Attachment part and changable parts are compatible each other.

3 - Spindle Direct-Mounting Type International standard A-type spindle
specification is applied to CAHTA type, so it is possible to directly attach to
short taper spindle.

1 RZFNTH : KRR THREN, SrhEfdl. THER T TRER
PRV AT TR E. 2. MakT 1RES it FRSCAHEFEL1ER, BItHRE it
WMREFETE, EMHREREMAERSY. 3- BRTRE | TARRRENSEMME AR THNTE
ERFEL.

1. 2T (E4)4R1E

cBMEE, BHEE 3. 2y FVERER
13285 285 2+ AE N3y 3 DML ©E 4. 233M 20

Outward Drawing/# BB/ 2 & =

_U_ SERRATION PITCH 1.5 T
\ \

\ N Outward Drawing/4 M EUE/ARIE) 2 & =

|
=
o
=
=
~
o
T
c
o)
=

ADNHD YHIMOd =i

1-0/82%8 B 2- 145 1YE 3-AEE ABY

Dynamic Gripping Force &S, /&t £81/ 77/58 193 At

=
o 3 ¥ Q
U _ SERRATION PITCH 1.5 i,—
r £ Y i g, 12000
% 2]
‘ i .6ENI % 8000 [—
; = |
Ine ull o[
] HEEEHS H- — - E—l 6000 |
. _E| F 15 15 [ 4000 —=
L B8 .
| ] 2000
: O 100 2000 3000 4000 5000 6000 7000
wiags™ A B C D E G H J K L M NmaxNmnOnaOmn Pma PMn Q R S Umax V W X Y Z Sl v 3 (rpm)
CAHA-06 169 90 140 82563 15 116 1048 46 6-M10 16 20 335 307 23 10 27 14 31 12 19 M55X20 3-M6 60 20 33 66 -

M60X20 3-M6 66 30 39 86
MB5X2.0 3-M8 94 30 45 108
M100X20 3-M8 108 30 51 111
M130X20 3-M10 139 60 70 165
M130X2.0 3-M10 139 60 70 165
M155X30 3-M12 166 80 73 180
M{75%30 3-M12 187 80 73 180 ] R
CAHT-06 169 80 140 5
CAHT-08 210 91 170 5

5

6

CAHA-10 254 113 220 139719 18 190 1714 77 6-Mi6 24 30 545 503 31 12 275 75 44 16 27
CAHA-12 304 127 220 139719 18 190 1714 91 6-Mi6 25 30 621 567 45 15 28 4 50 21 28
CAHA-15 381 149 300 196869 22 260 235 1186-M20 28 43 82 767 438 183 33 10 62 22 39
CAHA-18 450 149 380 196869 22 6 320 235 1186-M20 28 43 82 767 738 183 33 10 62 22 39
CAHA-21 530 161 380 285775 27 6 3302 3302 140 6-M2 34 60 985 932 875 215 38 15 65 25 39
CAHA-24 610 170 380 285775 27 6 3302 3302 165 6-M22 35 60 1084 1032 1175 215 47 24 65 25 40

Specifications A&/ It/ ML E

F
5
CAHA-08 210 103 170 106375 17 5 150 1334 52 6-Mi2 18 25 417 379 27 10 335 155 39 14 205
5
6
6

GG TR N N N~

G H J K L M NmaNmin Onx Omin Pmax Pmn Q R S
116 1048 46 3-M10 12 20 335307 23 10 12 -1 31 12 19

Umax V. W X Y Z
M®X20 3-M6 60 20 33 66
MBDX20 3-M6 66 30 39 86
MEX20 3-M8 94 30 45 108

150 1334 52 3-M12 15 25 41.7 379 27
190 171.4 77 3-M16 17 30 54.5 503 31

10 165 -15 39
12 95 -105 44

14 205

CAHT-10 254 100 220 16 27

N R RN~

SpecAtY . Thru-hole Jaw stroke Plunger stroke GI"DEinQ Dia(Ext_end gripping)  Max. perm issible CAHT-12 304 115 220 190 171.4 91 3-Mi6 18 30 62.1 567 45 15 10 -14 50 21 28 M100X20 3-M8 108 30 51 111
02“113;1";0' S“’ﬂ";"g NO- (mameen (Damelr) BN AE23 ojerd (21 gutehmm input force/ 58
Model&Al == ™ BEARA)Im  EAEZT (AZ)mm mm Max Z|cH Min 24 ARICR! KN(kg)
CAHA-06 1AHA06 A2-5 46 55 13 169 13 25(2500)
CAHA-08 1AHAO8 A2-6 52 76 18 210 11 40(4080) Specifications A&/ AR/ A S E
CAHA-10 1AHA10 A2-8 77 85 20 254 31 50(5100)
CAHA-12 1AHA12 A2-8 91 102 24 304 34 58(5916) Ko : e o -
CAHA-15 1AHA15 A2-11 118 106 23 381 30 71(7240) SecAl¥  erno.  SPindenose  Tmunde  Jawstoke  Pngersroke  GrippingDialExtend gribping)  Max. pem isbe
CAHA-18 1AHA18 A2-11 118 106 23 450 30 71(7240) ors NO. (Diameter) (Diameter) ~ BHHAEES3 merg(elguteimm input force/ 512
CAHA-21 1AHA21 A2-11, 15 140 106 23 530 87 90(9177) ModeldAl FEAA  BEZ(EZ)mm  EAERIEZAMM mm Max Z|c Min &4 HRICE KN(kd)
CAHA-24 1AHA24 A2-11, 15 165 104 23 610 110 90(9177) CAHT-06 1AHTO6 A2-5 46 55 13 169 13 16.6(1700)
S ; T E—— - CAHT-08 1AHTO8 A2-6 52 7.6 18 210 11 26.6(2720)
ec Max. staticgripping ~ Maxpermissble speg: eight (With standar q - . . . . CAHT-10 1AHT10 A2-8 77 8.5 20 254 31 33.3(3400)
: n . .. Matching ¢ylinder Matching hard aw ~ Matching soft jaw
for ce/2|cf HaMNBHHS  wtjaws)/EB(EE  Momentof netia "y ooy B NSAETZ CAHT-12 1AHT12 A2-8 91 102 24 304 34 39(3995)
Model& Al X &Eota KN(kgf) rp.m(min™") AZE FE3) kg N-m (kgf.m) - TeT et
CAHA-06 63(6426) 6000 137 2.45(025) Y AH-06 HJ- 06T 1 SJ-06T1 oo Ale o _ o _ oy
CAHA-08 94(9597) 5000 236 6.90(0.71) YAH-08 HJ-08T1 SJ-08T1 MaX_.ShtIi a,rtlip _mg(:force Max_pgr'mssblzsieed Weight Mn;sla;d:dsoﬂ aws) e e Matching cylinder Matching soft jaw
CAHA-10  125(12740) 4200 40 12.65(1.29) YAH-10 HJ-10T1 SJ-10T1 Modelsi 4] zlmKﬁ(;;; o o :rt(g?’ oy Wiaiezm  Momenlof netia Hgae NBAEZE
CAHA-12 147(15000) 3300 64 30.00(3.06) YAH-12 HJ-12A1 SJ-12A1 GRS I = :
CAHA-15 180(18355) 2500 127 93.55(9.54) YAH-15 HJ- 15T 1 SJ-15A1 CAHT-06 42(4284) 6000 12.3 2.20(022) Y AH-06 SJ-06T1
CAHA-18 180(18355) 2000 178 18730(19.1) YAH-15 HJ-15T1 SJ-15A1 CAHT-08 63(6398) 5000 21.7 6.86(0.70) Y AH-08 SJ-08T1
CAHA-21 234(23861) 1700 246 36283(37.0) YAH- 15 HJ-21B1 SJ-21A1 CAHT-10 83.3(8493) 4200 337 12.55(1.28) YAH-10 SJ-10T1
CAHA-24 234(23861) 1400 304 66094(66.4) YAH-15 HJ-21B1 SJ-21A1 CAHT-12 100(10200) 3300 51 26.47(2.7) YAH-12 SJ-12A1
10 | www _.seoam kr CHUCK | 11



ADNHD YHIMOd =i

GREAT BORE POWER CHUCK
BARIN NFE/ AEERFFRAT -Fr v 7/ UEE 53T IHYH

1 - Enlargement of Through Hole Much larger Through Hole is the biggest sizein the
same grade, which enables broader manufacturing such as bar feeder work. 2 - Light
Weight Equipmentload has been reduced by weight reduction, and efficiency has been
increased for fitful work and for both forward and reverse operations. 3 « Hight
Performance and High Accuracy It has the same structure as CAH power chuck, and
has excellent performance and quality. Attachment part and changable parts are
compatible each other. 4 - Spindle Direct-Mounting Type International standard A-
type spinde specification is applied to CGHA type, so that it can be directly attached to
short taper spindle.

1+ BRREH : HFEEAMEEFEANEN, BItERAEEE 2. I HetanT.
2- 285 FEMEERE RAHFENZRINEROERNBEAAES. 3 Mok, BE
B HFESCAHEFESEEE RERRERENUANRE ARt AaRel.
4 BERTRE  UERTRANSEMTEAR T AN ER T RE L.

1 EEBIA 2 -BEL3R 3. oM B8 4 AV FLVERE

B&
1- 2854 8 2-Zgs 48 3. 145 1VE 4-AHE X FE

dheEn/7 7/5E B8 AL

Outward Drawing/ B/ 2 & =

U v SERRATIONPITCH 15

N

Q
| 14000
b B o B T ]
} o = e of ~N @ m-lm { = |OGH-10 }
o 1
! a7 10000 |—
== " T~
| =] 1 \_|_/ 8000 e
seliEEe il = =k w =
] 6000 —
3 >
4000 OGHAO6 k o
% | -
. .
1000 2000 3000 4000 5000 6000 7000
x e 15 |5 E|HE (rpm)

Dimension/R~f/~T&&R/A + &

H J K L M Nmx Nnin Omax Omin Pmax Pminh Q R S
1048 53 6&M0 16 20 37 3424 21 8 12 -1 31 12 19
1334 66 GM2 20 25 462 424 23251025 7 -11 39 14 27
171.4 82 6M6 17 30 5627 522 31 12 95 -105 44 16 27

U max Vv W X Y Z
M60X20 3-M6 66 20 335 72
M75X20 6-M6 80 30 39 95
MIOX20 3-M8 98 30 45 110

Mmlel!é‘-ﬁem!’E A B C
CGH-06 170 81 140
CGH-08 210 91 170
CGH-10 254 100 220

oron o
ST CRE ]

Specifications A& /MR A S E

Spec.Ate Spinde nose  Thiu-hole Jawstroke  Plunger stroke  Gripping Dia(Extend gripping)  \1ay pemn issibie
et NO. (Dameter) ~ (Diameler) ~ B#K AEE3 o (2] Zfehmm nputforce/342
ModeiAl - FE04 HEA(EZ)mm  EAERZI(ZHmm mm Max Z[cH Min Zl4 AlRICE KN(Kd)
CGH-06 1GHO6 A2-5 53 55 13 169 13 25(2550)
CGH-08 1GHO8 A2-6 66 7.6 18 210 11 38(3900)
CGH-10 1GH10 A2-8 82 8.5 20 254 31 50(5100)
Spec.Atef e~ M issblespeal ~ Weight (With stendard GD? B ) :
Max.stdic gipping force  MaXx.perm s bie Spe €9 anada ; ;
Ao mmmo AT ASHL  oftiad/ ZZ(EE Momentof nertia Ma‘g'ggg{';"e’ Ma‘;‘;{:r;aw Mz‘gf’;ﬂ;a”
ModeliAl KN(kgf) rp.m(min”) AZE TEH) kg N (kaf.ar ) B o= e
CGH-06 60(6120) 6000 119 2.26(023) YSGH-06 HJ-06T 1 SJ-06T1
CGH-08 94(9597) 5000 23 5,59(057) YSGH-08 HJ-08T 1 SJ-08T1
CGH-10 120(12240) 4500 32 12.83(1.31) YGH-10 HJ-10T1 SJ-10T1

12 | www .seoam kr

GREAT BORE POWER CHUCK (SHORT TAPER)
BB HNFE (@) KB #EFERAT - F v (THT5-11) /1255 533 TR (02 $23)

1 - High Performance and High Accuracy It has the same structure as CGH
power chuck, and has excellent performance and quality. Mounting face and
changable parts are compatible each other. 2 - Spindle Direct-Mounting
Type International standard A-type spindle specification is applied to Mounting
face, so thatit can be direcity attached to short taper spinde. 3 - Shortening
of changing time Chuck-changing-time can be minimized as run-out
accuracy is kept upon attachment 4 - Convenient Attachment Option
Because adapters suitable to various spindle specifications can be
manufac tur ed and attached, the sc ope of application is extensive.

1148887, 1RES : HFBS5CGHEFASIEE, REHRETENURREE, BHEs
StrAERSH. 2 BRI TERRRENCEINMARTHMEELTRE L. 3+ #R
7 ERHRNHTERENTERN, AEEETMEERR. 4+ BT TRER - TRIEEZ
Z5ENTEAN T HES, ¥ ATERAER

BN BEE 2. 26 FLERER 3. BREABRER 4 FHARGIA TS 2>

1.345 385 2. AHS A=Y 3. TANZ ©5 4. 2384 20

Outward Drawing/4 IR/ ARIEY 2 & =

SERRATION PITCH 1.5

or

r ?1
:;E /':

(51}
<[4
a6
2H
2] 4]

=
n

Dimension//X~I/~F &%/ A+ &

et A B C D EF G H J K L M NmxNminomxOmn PnaPmn @ R S T Umax V W X Y Z
CGHA-06 170 91 140 82563 15 5 116 1048 53 6-MIO 16 20 37 3424 21 8 27 14 81 12 19 2 MGOX20 3-M6 66 20 335 72
CGHA-08 210 111 170106375 26 5 150 1334 66 6-Mi2 21 25 462 424 23251025 33 15 39 14 205 2 M5X0 6-Mi2 88 30 39 95
CGHA-10 254 113 220139719 18 5 190 1714 82 6-MI6 24 30 5627 522 31 12 275 75 44 16 27 2 MOOX20 3-8 98 30 45 110

Specifications /A& / TR/ AL E

Spec.AIS Spinde nose Thru-hole BwsrkeDianekr)  Plunger stroke  Gripping Dia(Extend aripping)  Max. perm issible
02";‘:‘1’;1'“50 NO. (Diameter) ZAE23  BHUM AER3 It (@l Zatehmm input force/51&
Model&i Al = %34 ASF(HF)mm (2 mm mm Max [cj Min &4 A2ICE KN(kdf)
CGHA-06 1GHA06 A2-5 53 5.5 13 169 13 25(2550)
CGHA-08 1GHAO08 A2-6 66 7.6 18 210 1 38(3900)
CGHA-10 1GHA10 A2-8 82 8.5 20 254 31 50(5100)
Spec. At aysidicgippingiorce  Maxpermissblespeed  Weigt (Win sandad GD? : : ) . q .
A =it 21 ARBEMS coftjans) /B (EE  Momentof inertia Matgigrgg{lader Matg‘éﬂ lr:rg LAy Mﬂ%‘fj‘,’,’?”
Model&Al KN(kf) rp.m(min™') AZE FT8) kg N (kaf.m) = o= e
CGHA-06 63(6426) 6000 137 245(0.25) YSGH-06 HJ-06T1 SJ-06T1
CGHA-08 94(9597) 5000 236 6.90(0.71) YSGH-08 HJ-08T1 SJ-08T1
CGHA-10 120(12240) 4500 40 1265(1.29) YGH-10 HJ-10T1 SJ-10T1
CHUCK | 13

|
=
o
=
=
~
o
T
c
o)
=




ADNHD YHIMOd =i

CLOSED CENTER POWER CHUCK

DI N FR/ERFER AT -F v v/ /DT HY THH Outward Drawing/4} 24P/ ATVE @1 S = Dynamic Griping Force pEgEEH 85 177 7/85 142 K5

. . . . . 5 P Y SERRATION PITCH 15, 3
1+ Economical Model Itis the most economical mode! without through-hole in the 3 [ A &
chuck, and used when not passing a bar work. 2 + High Speed Strong gripping force K ll 1 . —— R S— .
and safely of performance are secured by optimal design, and high speed rotation is ¥ h [— — S 2 - | . |
achieved. 3 - Durability Heat treatmemt is performed to alloy steel, and high accuracy, ] e 3 ¥ I |
strength and durability are realized by improving lubrication system. 4 - Compatibility § 8 = & el 4 l
The same soft jaws and hard jaws as those of big bore chuck are applied in order to lL 2| | e R 1
secure mutual compatibility.  EEEe el B 1 | (A e 10000 friey
= | 2l - 3 '-\_‘_\
1. 278 : BEEERERT, TENTTHAZ A FENERTER 2 RL70DS. o : T o <
2. BEH  ESEMTHET BANKZNRSRERNT 2. 3« HER : fFEUETIH v/ . i 1 A8 p o) e v s s . G o
WM EENANME BUNERRRY GHAESEE SEENSHENGE 4- %5 == | & = 4000 f—— =] E
{4 W FEEFS AR FEBERNYUNFE N, BitEEHRET _1I 2000 | L | m
/ ] CASD4 | &
. af EF - = o T2 . i / _ : . -~
1-BRsery 2. SELER 3. HAMER 4. ERMER S L2\ g 2
1-ZAx 2 2. 345 M3 3. 7Y &2 4. 584 g8 — T &% (rpm) T
P - Cc
Specifications /A& /M AFS B A
A
SO Order NO. SpindlenoseNO. AW stroke g;eis;r;': G'bg;gg(gggg)gfgm’ et wogi ™ A B C F G H J K L M NmxNmnOmxkOmnPmxPmn Q R S T U V W X Y Z
s Fx732 ACETE SESS : — . CAS04 110 52 60 6 - 80 - 3-M165 14 26 285 10 7 5 -10 25 10 25 3 MXi5 - 5 - 27 54
Model& Al ZAERI(XZ)mm mm Max Z[c Min |4 M2IH 3 KN(kgf)
CAS-04 10104 . 5 5 10 6 40445) (AS05 135 52 80 7 - 0 - M 165 19 R % 145 7 9 -5 5 10 3% 3 MMBE - B - 27 585
CAS=-05 005 - 5 e 135 5 6.4(647) CAS-06 169 74 140 5 116 1048 23 6-M0 14 20 41 367 13 7 1015 815 31 12 36 4 MK 3M6 32 32 35 72
CAS-06 1AS06 A2-5 9.2 20 165 19 19(1938) CAS-08 210 85 170 5 150 1334 28 6-Mi2 15 25 463 419 25 9 17 106 39 14 36 5 MOX25 3-M6 38 38 43 9
CAS—08 1AS08 A2-6 8.8 21 210 23 28%2856; CASH0 254 89 220 5 190 171.4 34 6-Mi6 18 30 511 467 307 112 1% 133 44 16 36 5 MOX25 M8 38 44 50 110
- 1AS10 A2-8 8.8 25 254 24 32.5(3315 CAS-12 304 106 220 6 190 171.4 39 6-M6 18 30 61 557 487 127 18 133 50 18 36 5 Max25 3-M8 38 50 54 111
o e NS 105 5 oo 2o oo CASH5 381 114 300 6 260 205 27 60 20 4 73 65 547 157 100 60 50 255 5 6 MDG35 SMIO 55 60 60 135
CAS-18 1AS18 A2—8:11 16 35 450 140 81.9(8362) CAS-18 450 114 300 6 260 235 27 6-M20 20 43 10685 985 485 232 92 57 50 255 55 6 MOX35 3-M10 55 60 603 135
CAS-21 1AS21 A2-11,15 16 35 530 82 81.9(8362) CAS21 530 125 380 6 330 330 27 6-M0 30 60 8 78 935 275 97 62 65 25 55 6 MOXI5 3MI2 55 60 71 180
CAS-24 1AS24 A2-11, 15 16 35 610 170 81.?(8362; CAS-24 610 125 380 6 330 330 27 6-M0 30 60 1245 1165 985 275 97 62 65 25 55 5 MuN35 M2 55 60 71 180
CAS-32 1AS32 - 20.6 38 800 211 100(10200 CAS-32 800 150 380 6 - 330 - §-M4 31 76 88 777 - _ % -3 75 255 g 8  MIX35 - 55 114 83 165
CAS-32HC 1AS32 HC = 30+(30) 38 800 296 119(12232) - —
i e . 505 - 1000 230 1610164209 CAS-32HC 800 150 380 6 - 3802 - G-M4 30 762 {72 125 - % -3 75 55 6 1 MDGS 55 114 83 165
RN PR _ TCEe) 55 L = e CAS0 1000 180 520 8 - 510 - G-M4 34 100 145 128 - - 53 -3 9B 30 65 -4 MBUD - 60 - 108 200
CAS-50 1AS50 - 30.5 57 1250 330 161(16450) CAS-40HC 1000 180 460 8 - 4636 - 6-M4 32 1524 207 154 - - 35 -25 110 30 68 O M¥X40 - 60 - 110 270
CAS-50 HC 1AS50 HC = 46+(30) 60 1250 187 180(18367) CAS50 1250 180 520 8 - 464 - 6-M4 32 100 145 128 - - 35 -2 98 30 68 -4 MPX0 - 60 - 106 200
CAS-63 1AS63 = 48 60 1600 = 180(18367) CAS50HC 1250 180 520 8 - 1636 - 6-Wp4 32 1524 207 15 - - 35 -25 110 30 68 -4 MPX40 - 60 - 106 270
S0 eCAISE CAS-63 1600 220 720 8 - 648 - 6-M30 46 - - - - - 13 -4 - - MBX40 - - - - -
Max.stdicgipping force ~ Max.permssble speed  Weicht (With standard GD? . . " P i f - o - = =
s Fsmlotsl A1 ABIES st/ BR(EE  Momentof neria Maling arinder  Matggg fard B Marg soflfaw *CAS3221R| 0|82 Soft Jaw AIZFIHKeyType LLICE +CAS-[JHCE OW| ZEZ Type LIt
Moders Al KN(kgf) r.p.m(min"") AZE FFF kg N (kgf.m) Dt T T *Soft jaw for larger size than CAS-32 :Key mount type. * CAS-[JHC : Combination Type.
CAS-04 12.1(1224) 5000 4 0.196(0.02) YAS - 65 - SI-04T2 * CAS-324 v FULEITEM MR K ey ~Ty pe T « CAS-[JHC [T <+,
CAS-05 17.7(1791) 5000 0.56(006)  YAS,C,P,T -80 = SJ-05 Al . 0AS305H NIRRT SR . 0AS- [ THC EltpEREl
CAS-06 63(6426) 6000 13 1.77(018)  YAS.C.P.T-100 HI-06T1 SI-06TH CAS-32 LU ERMB a2 ey XA, CAS- [JHCZBHHERAL
A R AETR o5 EETEE s ETEEE ST e st e
CAS-10 115(11730) 4100 37 11.17(1.20)  YAS,C,P,T-125 HJ-10T1 SI-10T1 . . . -
CAS-12 156(16014) 3400 57.3 28.44(2.90)  YAS,C.P.T-150 HJ-1 2A1 SI-12T1 Outward Drawing/# IR/ HFR/ QA S = Dynamic Gripping Force/spif {31 £8 777 7 61193 £t
CAS-15 248(35391) 3040 96 70.5(72)  YAS,C,P,T-200 HJ-15A3 SI-15A3 —
CAS-18 248(35391) 2710 131 95(9.7)  YAS,C,P.T-200 HJ-15A3 SI-15A3 » Short taper mount
CAS-21 272(27838) 1940 198 188.2(19.2)  YAS,C.P,T-200 HJ—-2 1B SJ-21 Al
CAS-24 272(27838) 1760 223 67.8(692)  YAS,C,P,T-200 HJ-2 1B SJ-21 Al
CAS-32 240(24490) 900 341 23.8(243) YASTL-200 HJ-3 2A1 SJ-32 Al -
CAS-32HC 214(21916) 800 350 23.8(243) YASTL-200 HI-32A1 SJ-32 Al ) I~
CAS-40 361(36836) 630 670 68(7.03) YAST-245 HJ-4 0A1 SJ-40 Al & . U -
CAS-40 HC 320(32653) 630 670 68(7.03) YAST-245  HJ-40A2 SJ-40 A2 : E S
CAS-50 361(36836) 500 800 145(14.78) YAST-245 HJ-4 0A1 SJ-40 A1 = T o N
CAS-50HC 320(32653) 500 800 145(14.78) YAST-245 HJ-4 0A2 SJ-40 A2 ar ~
CAS-63 320(32653) 280 1600 500(50.97) YAST-245 - - 0 0
» Short taper mount g -§ 12000 \\ﬁ\
Spec.Abet : Gripping Dia(Extend gripping) _permi ATAY
: OrderNO.  Soinde nose NO. oechic S I YOS O P Stz (el o pmm oL orce/ 518 ik Tass]
Mode & Al B - FAERA(HZE)mm mm Max E(cH Min Z|4 Al2iC2 KN(kgh ‘ B LVl B
CAS-15 A8 1AS15 A8 A2-8 18.6 35 381 60 73.5(7438)
CAS-15 A11 1AS15A1 1 A2-11 18.6 35 381 60 73.5(7438)
CAS-18 A8 1AS18 A8 A2-8 18.6 35 457 60 73.5(7438) A0 s 2000 7000
CAS-18 A11 1AST8AT 1 A2-11 18.6 35 457 60 73.5(7438) M
CAS-21 Al1 1AS21 Al 1 A2-11 18.6 35 530 110 98.1(9927) E@ (pm)
CAS-21 Al5 1AS21A15 A2-15 18.6 35 530 110 98.1(9927)
CAS-24 Al1 1AS24 AT 1 A2-11 18.6 35 610 110 98.1(9927)
CAS-24 A15 1AS24 A1 5 A2-15 18.6 35 610 110 98.1(9927)
o in arinni eq i 2 = o a a
Spec. AFY¥ Mgl.&:a%%{lp%rggce méﬁmlfégfaspfd mﬁ%‘?‘g;g% Wmen‘f‘gf inetia Matching o/linder thcj::hing; hard jaw Matching soft jaw wieas ™5 A B C D E F G H J KIANS) K(IS) LANS) LUIS) Nmax Nmin Oma Omin Pmx Pmn S T U v X
Mod el& Al KN(kaf) rom(min)  AZE ZES) kg N-mi(kgf.m) HEdEn H8ot=2 S CAS-15A8 381 125 225 130714 20 2421 85725 17145 8 5/&11UNC 6-MI6 24 225 745 652 545 215 35 0 50 175 MZX30 85 63
CAS-15 A8 147(14876) 2100 98 696(712)  YAS,C,P,T-200 HI-15A1 S)-15A2 CAS-5A1 381 125 280 19688 20 2936 175 2% 10 3/4100NC 6MD 23 26 745 652 545 215 35 0 50 175 MZX30 65 63
CAS-15 A1 1 147(14876) 2100 98 69.8(7.12)  YAS,C,P.T-200 HI-15A1 SI-15A2 CAS-8A8 457 125 225 AT 20 2421 85725 17145 8 S5/&-11UNC 6:Mi6 24 225 745 652 905 215 35 0 50 175 MZX30 120 63
CAS-18 A8 147(14876) 1700 132 135.32(13.8) YAS,C,P,T-200 HJ-15A1 SJ-15A2 CAS-18Aft 457 125 280 196864 20 2936 1175 2% 10 3/4-10UNC 6MD 23 26 745 652 905 215 35 0 50 175 MZIX30 100 63
CAS-18 Al 1 147(14876) 1700 132 13532(138)  YAS.C,P.T-200 HI=15A1 SI-15A2 CAS21A11 530 140 280 19886 20 2936 1175 2% 10 3/410UNC 6-MD 334 31 1015 922 1005 215 35 0 55 220 M5 110 75
Cass2t Al R Se 2 = AL A G R - S22 CAS21AI5 530 140 380 BS7® 22 371 11 302 10 7/8INC 6M2 354 3 1015 922 1005 215 35 0 55 220 M5 110 75
CAS-21 Al5 194(19632) 1500 195 26868(274)  YAS,C,P,T-200 - SI-21A2 T1E1& 3, - ,
CAS-24 Al1 194(19632) 1200 250 456.2(4652)  YAS,C,P.T-200 - SJ-21A2 CAS-24A11 610 140 280 196864 20 2936 1175 2% 10 3/410UNC 6:MD 334 31 1015 922 1365 215 35 0 55 220 MOX35 145 75
CAS-24 A15 194(19632) 1200 250 456.2(4652) YAS,C,P,T-200 - SI-21A2 CAS-24A15 610 140 380 25763 22 3571 1661 302 10 7/86-9UNC 6-M2 354 32 1015 922 1365 215 35 0 55 220 MIX35 145 75

14 | www _seoam Kkr CHUCK | 15



ADNHD YHIMOd =i

CLOSED CENTER POWER CHUCK (SHORT TAPER)
PSR SR SRR AT - F ¢ v (T4 T8 - 1) 14 EL Y T H (01 e £2E)

0.

1 - Spindle Direct-Mounting Type International standard A-type spindle
specification is applied to mounting face, so itis possible to directiy attach to short taper
spinde. 2 -+ Shortening of changing time Chuck-changing-time can be minimized
as run-out accuracy is kept upon attachment 3 - High Performance and High
Quality It has same structure as CAS power chuck, and gurantees excellent
performance and quality. Mounting face and changable parts are compatible with CAS.
4 - Convenient Attachment Option Because adapters stitable to various spinde
specifications can be manufactured and attached, the scope of applicationis extensive.

1. BEEREL  UBETRERCEMT AR TN B T RE L. 2. BiHE SR T
EEFMEERN, AEEETHRERR. 3- Hach REY : KFE5cAsE+E2519EE, B
HHREREN AR E, AR REEEREN. 4 ETTRER  TRIRBZZ58
MABSHIHES, ¥ ATHERER

1e2ey FLERR 2. REABEER 3. Stk 828 4. FHLERMUL Tva

1.2 338 2. ZYMY @5 3. 345 DI 4. 223N 80|

Outward Drawing/4} EUER/ARIR/ 2 & &

5 P

2-JAW CLOSED CENTER POWER CHUCK
S E HE8/ 2 DMSEFER AT —F v v 2 [2-5Q DEZAS THYH

1 - Clamping of Irregular Work It shows excellent performance for machining
irregular works such as square bars. 2 » High Performance and High Accuracy
It has the same structure as CAS power chuck, and guarantees excellent
performance and quality. Mounting face and changable parts are compatible with
CAS. 3 - Spindle Direct-Mounting Type International standard A-type spinde
specification is applied to CASTA type, so that it can be directly attcahed to short
taper spindes.

1 RETHMTH : RFBEEEAANTHE, BrEEfEnNeE. FsrnEs. 2. e
17, EES: RFESCASH+ELBEE, RAHRERENESHEE BT RAEERS
. 3. ERTRE  TEERRENCER AR THNER T RE L.

1. ERITEYICE 2. SHE: SiEE 3. 26> F L ERR

1-082%8 oot 2. 145 IHE 3. AUS IBY

|
=
o
=
m
~
o
T
c
o)
=

Outward Drawing/$ IR/ ARIEY 2 € =

Dynamic Grippirg Force/EEE 3t 8% 177 7 B 192 A%

a 12000 §
= exeseet
‘w ]
or 10000 I CASTI2
8 " |
8000 [—
& N\
g b —, T 6000 = e N
e castas |
sl 4000 TS _
CAST6 =
m e
0
1000 2000 3000 4000 5000 6000
& B|H (rpm)

Dimension/R~I/T A&/ A+ H

Umax V. W X Y Z
MI6X20 3-M6 32 32 36 72
M20X25 3-M6 38 38 43 95
M20X25 3-M8 38 44 50 110
M20X25 3-M8 38 50 54 111

gt A B C F G H J K L M NmaxNminOmaOmn Pmax Pmn Q R S
CAST-06 169 74 140 5 116 1048 23 6-Mi0 14 20 41 367 13 7 1015815 31 12 36
CAST-08 210 85 170 5 150 1334 28 6-MI2 15 25 463 419 225 9 127 106 39 14 36
CAST-10 25 89 220 5 190 171.4 34 6-Mi6 18 30 511 467 307 112 158 13 44 16 36
CAST-12 304 106 220 6 190 171.4 39 6-Mi6 18 30 61 557 487 127 163 13 50 18 36

Specifications /4F&/ AR/ ALY &

o oo
oo~ -

o=t A LB C D E F G H J K L M NmaxNmn Oma Omin PmaxPmn Q R S T u V W X Y Z
CASA-06 169 84 140 82563 15 5 116 1048 23 6-MI0 14 20 41 367 13 7 85 665 31 12 36 4 MI6X20 3-M6 32 32 35 72
CASA-08 210 97 170 106375 17 5 150 1334 28 6-Mi2 18 25 463 419 205 9 110 8 39 14 36 5 M20X25 3-M6 38 38 43 95
CASA-10 254 102 220 139719 18 5 190 1714 34 6-Mi6 25 30 511 467 307 112 140 115 44 16 36 5 M20X25 3-M8 38 44 50 110
CASA-12 304 118 220 139719 18 ¢ 190 1714 39 6-Mi6 25 30 61 557 487 127 145 115 50 18 36 5 M20X25 3-M8 38 50 54 111
CASA-15 381 130 300 196869 22 ¢ 260 235 27 6-M20 23 43 73 65 547 157 8 47 50 255 55 5 M30X35 3-M10 55 60 g0 135
CASA-18 450 130 300 196869 22 6 260 235 27 6-M20 23 43 1065 985 485 232 70 35 50 255 55 5 M30X35 3-M10 55 60 603 135
CASA-21 530 146 380 196869 27 ¢ 3302 3302 276-M2 28 60 86 78 935275 70 35 65 25 55 6 M30X35 3-M12 55 60 71 180
CASA-24 610 146 380 196869 27 @ 3302 3302 27 6-M2 28 g0 1245 117 935 275 70 35 65 25 55 6 M30X35 3-Mi2 55 60 71 180
Specifications A&/ TR/ AL E
Spec. At N Jaw stroke Punger st oke Grip ping Da(Extend gripping) Max. permissibl
P P LS (Dameter) EEN-LE] Ttz @l emm putio e /518
ModerziA| o F&nd Z AE2 AWZ)mm mm Max 0} Mn 24 A2 2 KNk gf
CASA-06 1 ASA06 A2-5 92 20 165 19 19(1938)
CASA-08 1ASA08 A2-6 88 21 210 23 28(2856)
CASA-10 1ASA10 A2-8 88 25 254 24 325(3315)
CASA-12 1ASA12 A2-8 105 30 304 26 415(4233)
CASA-15 1ASA15 A2-11 16 35 381 60 8362
CASA-18 1ASA18 A2-11 16 35 450 140 8362
CASA-21 1ASA21 A2-11,15 16 35 530 82 8362
CASA-24 1ASA24 A2-11,15 16 35 610 170 8362
Al stdicgipping force  Max.permissi bl ight (With stan 2 . ) : . . )
Spec.Ate Ma’ﬂs&f %%slprf}gg W aglpﬁrr}\l}g gl?_%eed s‘g:igtswg séa(g:ﬁd M a‘ner??:f e ria Match ing cylinder  Match ing hérd aw  Matching édnt jaw
Modelg Al Nk g r.pm(min ") ATE BT H) kg N-m(kg f.) Hadar HEIER HBrERT
CASA-06 63(6426) 6000 14 1.96(0.20) YAS, C,P,T-100 HJ-06T1 SJ-06T1
CASA-08 80(8160) 4800 27 5.79(059) YAS, C,P,T-125 HI-08T1 SJ-08T1
CASA-10 115(11730) 4100 40 1284(131) YAS,C,P,T-125 HJ-10T1 SJ-10T1
CASA-12 156(16014) 3400 66 2952(301) YAS, C,P,T-150 HI-12A1 SJ-12A2
CASA-15 248(35391) 3040 96 705(72) YAS, C,P,T-200 HI-15A3 SJ-15A3
CASA-18 248(35391) 2710 131 95(9.7) YAS,C,P,T-200 HI-15A3 SJ-15A3
CASA-21 272(27838) 1940 198 188.2(19.2) YAS, C,P,T-200 HJ-21B1 SJ-21A1
CASA-24 272(27838) 1760 223 678(6.92) YAS, C,P,T-200 HI-21B1 SJ-21A1

16 | www _.seoam kr

Spec.AFY¥

Gripping Dia(Extend gripping)

) Jaw stroke Plunger stroke J e Max. permissible
Oédgiu‘g' &Jlng;r:__c;s; L%k (Diameter) EdM AER3 mtora(el Zatemm input force /518
Model&i Al = FAEZI(HH)mm mm Max Z[Cq Min Z|A A3 KN(kgf)
CAST-06 1AST06 A2-5 92 20 165 19 126(1279)
CAST-08 1AST08 A2-6 88 21 210 23 186(1885)
CAST-10 1AST10 A2-8 88 25 254 24 216(2187)
CAST-12 1AST12 A2-8 105 30 304 26 276(2793)
SpecA®  ax suticarippingforce  Maxpermissible speed  Weght Wih sendardsot aws) GD? A : ,
40 3R HIASHES  ZREIAZEIEY)  Momentofnetia ' ompaon s Hgaeam
Model & 4! KN(kaf) rp.m(min’") kg N (kaf.m) nead HEAE T
CAST-06 419(4241) 4300 125 167(017) YAS, G P, T-100 SJ-06T1
CAST-08 532(5385) 3600 24 520(053) YAS,GP.T-125 SJ-08T1
CAST-10 765(7742) 3100 355 1147(1.17) YAS,GP, T-125 SJ-10T1
CAST-12 104.4(10569) 2500 605 27.75(283) YAS, G P, T-150 SJ-12A2
CHUCK | 17



3-JAW DRAW DOWN CHUCK
EHEOMER=TDFEY 3 o -89 > 7+ v 73- 22 EER R 4

1 . Stable Clamping As a work piece is puled to datum plane for clamping it
gurantees excellent stability and aripping force. 2 « Multiple Utilities It shows
excelent performance in clamping diverse work piece such as flange, shaft, gear,

crank and taper type.

clamp inner diameter.

ADNHD YHIMOd =i

llem®%
Model®4 A

CtimMB-04 110

CtimMB-05 130
CliMB-06 165
CtimMB-08 210
CliMB-10 254
CliMB-12 304

B
60
70
85
95
110
125

G
98
118

F
5
5
140 5
5
5
5

_N.r'! !
Ly

* C11MB chuck is to clamp outer diameter of work piece, and C13M chuck is to

1. ZETR : SNTTHRUEEAEHMT REN, RIBEEFEE, BAED. 2« AgS
2 FRURERESHIH, NO5M, Wi, tRCURER, BFETHE.

* C11IMB AT AT HIMIREE R, C1avFERTXITH AR HERE.

1220488 2. 2E00EE
* C1IMBF + v 7 (s THEMONMBE BIET HET, CIMF v v 7 EPHRLBIET BB TT.

1. 958 oo 2. 0128 8E

|
- E
B8

C11MB-06,08,10,12

H
80
100
104.77
133.35
17145
17145

O Lo - (B
C11M8-06.08,10.12

K L Nmax Nmin Pmx Pmn Q

Specifications /FF&/ R/ AL B

SpecAlY¥

Mode Al
C11MB-04
C11MB-05
C11MB-06
C11MB-08
C11MB-10
Cl11MB-12

Order NO.
2 S

11904
11905
11906
11908
11910
11912

Spec.At%  Max. static grip ping force
Ao YN mpot

Modef&Al KNkgf)
C11MB-04 103(1051)
C11MB-05 168(1714)
C11MB-06 247(2519)
C11MB-08 44.1(4498)
C11MB-10 588(5998)
C11MB-12 735(7497)

18 | www .seoam kr

Dynamic

3-73
[CTINB-04,05

S Tma Tmin U

8000
G = |
= 7000 o]

A2 SXE 9FS nAsts 1X0/H,C13M H2 LfZ 2 Tl

Gripping ForcesfEES:

B8 77 7 ERIYE AT

| CIIMB08)

500 1000 1500 2000 2500 3000 3500 4000

E| ™ (pm)

W X YmxYmn Z1 Z2 Z3

3-M8 14 37 345 19 12 25 20 105 35 MIOXI5 25 28 30 23 25 - MGXDPI1
3-M8 9 44 415 19 12 30 25 105 35 MI2xt75 28 30 35 28 30 -  MEXDPi1
6-M10 11 58 544 33 23 35 36 14 4 MI6X20 32 35 45 35 35 20 M&DP13
6-M12 23 71 674 38 28 40 36 14 4 M20X25 38 42 55 45 45 25 M&DP13
6-M12 22 85 796 47 32 50 46 19 4 M4X30 50 52 65 50 55 30 MI0OXDP17
6-M16 27 102 966 47 32 60 50 19 4 MZZ7X30 52 55 75 55 70 35 MI0XDP17
Jaw stroke(Diameter) Plunger stroke Gripping Dia(Extend gripping) Max. permissible
ZAERI(RZ) Zay AER3 oA (2| Zut)mm input force /518
mm mm Max Z[C§ Min £|A AZIHY KN(kaf)
5 7 110 18 59(601.8)
5 7 130 25 9.8(9996)
7.2 10 165 35 14.7(1499)
7.2 10 210 40 245(2499)
108 15 254 50 34.3(3499)
10.8 15 304 50 44.1 (4498)
Maxpermissible speed ~ Weich! With siencerdsoft aws) GD? : ; - -
41 ABeE+  33(EIAZEIEM)  Momeniofneia  MASIOolnder Mg soliaw
rp.m(min’') kg N (kgf.m) neqEd B
7000 45 0.312(0.032) YAS, C, P, T-65 SJ-04D1
6000 73 0.704(0.072) YAS, C, P, T-80 SJ-04D1
6000 138 1.764(0.18) YAS, C, P, T-100 SJ-06D1
5000 27 6.64(0.68) YAS, C, P, T-125 SJ-08D1
4200 458 14908(152) YAS, C, P, T-150 SJ-10D1
3300 68 31.388(320) YAS, C, P, T-150 SJ-12D1

SWING LOCK CHUCK
B EEEAAEE F vy 2/LBR 5 &

1 - Strong Gripping Force It is the chuck that jaws pull materials and stick
them to the chuck base plate for stable clamping 2 - Clamping Taper
Part It can accurately clamp (within 202)the rough face of casting and
forging parts of taper face and clamp inner and outer diameter. 3 « Swing
Type Jaw As jaw is balanced and swung (within 5%)in line with
configuration of clamping face of materials, it performs the most stable
clamping. 4 - Excellent Dust-proof Performance It prevents foreign
substances and chips wih a dust seal installed in the locker arm.

5. C63M :3 JAWType, C64M: 2 JAW Type

1825058 RFENFSRNENTIIH REFEEFEEME FEFE. 2- £E8
Tt FEREEF SRR LNEAMO A TR MEE, FoEETHY
A, SR, 3 BHEF: SR IUMTFFERST, ENIIHNEEELEH LA &
ERFE 4 My ATPHEA R EIREHAFE BITERLSE L2RHLE.
5.C63M : =T&!, C64M - i T&!

1. 330488 2. 7—/SBi0E 3+ BB M 4« BEMAEES

5+ C63M : 3JAW Type, C64AM : 2 JAW Type

1. zi2{3t jote) 2. B0 HE Ho 3.-258Ho &2 4. WIMS 2%
5 C63M:3 JAW Type, C64M : 2 JAW Type

lte m&=

Mod el 4!
C63M-06
C63M-08
C63M-10
C63M-12

A
175
210
254
304

B C D E F G
77 140 42 5 5 51
89 190 50 5 5 60
106 230 58 5 5 72
108 280 66 5 5 925

)
=
w
or
a— CHIM-08)
o
3 R
i CEIMO6 ~
%350 1000 1300 2000 2500 3000 3500 4000
BT == (rpm)
H J K L M N O PmnPmx Q S u w
104.8 731 3-M10X15 14 135 442 193 325 439 381 38 Mi16X2 32
133.4 889 3-Mi12X1.75 19 165 527 233 375 519 444 38 Mi18X25 35
171.4 1127 3-M16X2 20 195 656 291 50 675 571 46 M24X3 45
171.4 1332 6-M16X2 20 195 656 291 57 745 571 50 M27X3 53

Specifications /A& / TR/ AL E

Spec.AFY

Model& Al
C63M-06
C63M-08
C63M-10
C63M-12

Spec. At Max.static gripping force

Model&A!
C63M-06
C63M-08
C63M-10
C63M-12

Order NO.
ohH s & AERF(EIAH)
mm
1C6306 74
1C6308 92
1C6310 118
1C6312 118

Jaw stroke(Diameter)

Maxpermissible speed

Plunger stroke Gripping Dia(Extend gripping) Max. permissible

Zay AEZ3 ootz (2l g utehmm input foroe /512
mm Max Z o Min & & A2IE 3 KN(kgf)
114 120.0 12 21.6(2200)
144 150.0 16 284(2900)
175 205.0 50 35.3(3600)
175 240.0 63 35.3(3600)

Weight (With standard soft GD?2

Matching oylinder

A0 Yooty 0 AR S aws) 5 (EFAZE&ZH)  Moment of inertia = gAlai
KN (kaf) r.om(min”") kg N- mi(kgf. ) Tess
64.7 (6600) 3800 14 049(0.05) YAS, C, P, T-100
85.3(8700) 3000 23 1.08(0.11) YAS, C, P, T-125
106(10800) 2500 40 264(027) YAS, C, P, T-150
106(10800) 2000 5) 588(0.60) YAS, C, P, T-150
CHUCK | 19

|
=
o
=
m
~
o
T
c
o)
=



ADNHD YHIMOd =i

SOFT JAW

SOFT JAW
YN/ EM/AZE &2

Dimension /<

Type Fig Serration A B C
SJ-04T1 1 15X60° 475 25 25
SJ-04T2 1 1.5X60° 54 25 25
SJ-05T1 1 15X60° 54 23 25
SJ-05A1 2 15X60° 585 25 25
SJ-06T1 1 15X60° 72 31 315
SJ-06A1 2 1.5X60° 66 35 35
SJ-08T1 1 15X60° 95 37 375
SJ-08A1 2 15X60° 855 40 40
SJ-10T1 1 15X60° 110 44 445
SJ-10T2 1 15X60° 108 45 45
SJ-12T1 2 1.5X60° 129 49 49
SJ-12A1 2 1.5X60° 111 49 495
SJ-12A3 2 1.5X60° 111 50 60
SJ-15A1 2 1.5X60° 165 59 595
SJ-15A2 2 30X60° 156 65 70
SJ-15A3 2 1.5X60° 135 50 59
SJ-21A1 2 3.0X60° 180 59 595
SJ-21A2 2 30X60° 180 65 70
SJ-32A1 3 - 165 75 83
SJ-40A1 3 = 200 98 110
SJ-40A2 3 - 270 110 110

HARD JAW

D E F G H J K L M N Matching Chuck ZHE
11 4 95 16 22 14 9/82 16 4 55 2IM BT M-45
10 o) 10 14 30 135 <) 14 8 3 1MA-4
10 4 115 14 28 135 85 165 5 - CAH-5
10 3 8 i) | &l 14 9 14 - - 1MA-5
12 5 15 20 37 175 11 195 12 15 CAH/CAS/CGH-6
12 S 145 20 315 175 11 22 = - 2TM/3TM-6
14 5 20 25 50 20 14 225 1 20 CAH/CAS/CGH-8
16 5 20 25 405 20 135 26 - - 2TM/3TM-8
16 5 30 30 50 20 14 285 1 20  CAH/CAS/CGH-10
18 5 24 30 54 23 16 30 8 - 27M/3TM-10
18 6 39 30 60 23 16 31 - - CAS/IMA12
21 B 21 30 60 25 17 315 - - CAH-12
21 5 25 35 51 26 18 42 - - 27TM/3TM-12
22 8 47 43 73 32 22 36 - - CAH-15,18
26 8 34 50 72 32 22 50 - - 1MA-15,18,21
250 3 26 43 66 32 21 39 - - CAS-15,18
25 95 40 60 80 32 22 36 - - CAH/CAS-21 24
26 8 34 50 96 32 22 50 - - 1MA-2124
127 125 219 762 669 32 22 54 1903 - CAS-32, 32HC
30 6 35 100 65 40 27 86 1903 - CAS-40, 50
30 85 488 2-762 688 40 27 85 1903 - CAS-40HC, 50HC
HARD JAW

g /Emn/stE a2

Dimension/R~f/~
Type  Fig Serraon A B C

HJ-04A1 2 15X60° 543 28 30
HJ-06T1 1 15X60° 755 31 4

HJ-06A1 2 15X60° 658 35 35
HJ-08T1 1 15X60° 87 39 51

HJ-08A2 2 15X60° 831 40 40
HJ-10T1 1 15X60° 101 40 54
HJ-10A1 2 15X60° 983 45 45
HJ-12A1 2 15X60° 105.8 50 52
HJ-12A2 2 15X60° 114.2 50 55
HJ-12T1 1 15X60° 104.4 50 62
HJ-15T1 1 15X60° 159.2 62 86
HJ-15A1 2 30X60° 1535 65 75
HJ-15A3 1 15X60° 149 62 86
HJ-21B1 2 30X60° 159.5 80 90
HJ-32A1 3 - 145 70 75
HJ-40A1 3 = 170 90 110
HJ-40A2 3 - 2225 80 117

20 | www seoam kr

D E F G H
11 5 237 16 306
12 5 30 20 12
12 5 327 20 331
14 5 27 25 22
16 5 428 25 403
16 5 43 30 17
18 5 543 30 44
21 5 605 30 453
21 5 681 35 4641
18 6 296 30 303
22 8 66 43 35
26 8 83 50 705
255 5 69 43 27
25 12 10348 50 562
127 5 66 762 79
30 6 110 100 70
30 85 138 1143 895

J
14
175
175
19
20
19
23
25

23
32
32
32
32
32
40
40

L

10
11
12
13
13
15
17
20
15
20
30
20
40
32
47
55

H Y

1903
1903
1903

(6]
15
13
12
11
15
24
30
18
25
40
44
38

Matching Chuck X &
27M/3TM-4,5
CAH/CAS/1MA-6
27M-6/37M-6
CAH/CGH/CAS-8
27M-8/37M-8
CAH/CGH/CAS-10
27MW/37TM-10
CAH-12
27MW/3TM-12
CAS/1IMA-12
CAH-15,18
1MA-15,1821
CAS-15,18
CAH/CAS-21,24
CAS-3232HC
CAS-4050
CAS-40HC,50HC

ADAPTER
$2 )7 87 % OFHE]

ADAPTER

Model&iA] tem®= spindenose Fig A B C D E F G H J K L M N Matcting ChuckZ &%
AD-06A05 A2-5 1-1 140 15 82563 797 163 65 10478 12 116 - 1 65 66 CAH, CAS
AD-08A05 A2-5 2 170 25 82563 797 163 65 10478 - 13335 M12 175 115 11 CAH, CAS
AD-08A06 A2-6  1-1 170 17 106375 103 1945 65 133.35 135 150 - 1 65 66 CAH, CAS
AD-10A06 AD-12A06 A2-6 2 220 25 106375 103 1945 65 13335 - 17145 M16 20 135 14 CAH, CAS
AD-10A08 AD-12A08 A2-8 1-1 220 18 139719 136 242 8 171.45 18 190 - 14 10 9 CAH, CAS
AD-15A11 A2-11  1-1 300 22 19687 19212936 10 235 21 260 - 17 1" 1" CAH
ADT-06A05 A2-5 1-2 140 15 82563 797 163 65 10478 12 116 - 1 65 66  CAHT, CAST
ADT-08A06 A2-6  1-2 170 17 106375 103 1945 65 133.35 135 150 - 1 65 66  CAHT, CAST
ADT-10A08 A2-8 1-2 220 18 139719 136 242 8 171.45 18 190 - 14 10 9 CAHT, CAST

Short taper Spindle Nose
THIR IR/ T T - By E =0 g2

7 / , Dimension/R~/T A&/ A+ &
¥ _—
'. Fi .n 4 giene A B CO  C1 ATeD AR E  F G
e ——ll e _ S 3 92 95 33 - - 11 - - MO
) _ 4 108 63513 413 - - 11 1415 5  MI10
—— M S 5 133 853 524 3095 1429 13 159 5  MI10
= | | 6 165 106375 667 413 1588 14 1905 5  MIi2
i ' 8 210 139719 857 5555 1746 16 238 6 M16
= \ 5 A 11 280 196869 117.5 8255 1955 18 286 8 M20
1 L\ 15 380 28577 1651 1238 2064 19 349 8 M22
s/ _D__LT o/ |z

SPINDLE A1 - Type

»Soft Jaw » Hard Jaw » Adapter
Sd-LIL L L HI-L L L ADLI-UILT ALIL
Chuck Size Option Chuck Size Option Chuck Size Spinde Nose

Blank | Standard
T | 2-jaw type

Shape A | Flat(Zt&)

Shape A | 2 Step(2EH)
B | Protrude(lL&) BI3

Step(3EH)

CHUCK | 21

ADNHD 4IMOd =




BIG BORE HYDRAULIC CYLINDER

FORFLERE L/ & RP EREEIRRES ) > & - /155 3E S/ Yd e Outward Drawing/4 IR/ FUHEY @ 8 =

1 - Safety Guaranteed It contains check vaves so that pulling force is kept for a
certain time upon power failure, securing safety. 2 - Easy Repair & Check
Thanks to easy access of chuck valves from outside, it is possible to reparr and
check them, while cylinder is attached to the equipment. 3 - Leakage Prevention
Design(Patent Registation:0172805) Cylinder body is designed with a leakage
prevention structure to totally eliminate the possibility of leaking. 4 + Highest Draw
Pull As weight is reduced and draw pull is increased, it gurantees the best
machining efficiency and stronger power.

1-RETE  HERBIIHEEER, SEs, EHNTRT—RIE, BlH‘kTe.
2. EHEMRAES BT WISSETRTELR, SEEMITRERELENETEEME
W3- Bt CEREA 01 72009) © EREMTEAREST R, TEHBRRHIT RN
4. HIREX : SR BIIEEFERN AN, ) TREE SIS NN

1. 220E 2-#548755 3 BubLEHEFESD 4 A2 52 HK#N

=/

1. o8 gu 2253200 801 3. FRUK AN (SHSS 017205 4-5F H 3= wal.

YAH-06,08,10,12,15

2 Specifications /A& /T A Y H 2
c c
= woagy ™% C D E F B H J K M N 0 P Q =
0 Spec Aty Order NO Cylinder Dia  Pistonstroke  Thru hole Dia Piston surface area Max. Draw bar pull YAH-04 100 85 60 - 35 25 85 45 65 30 21 - 76 (8]
g onms  dUCUZ  mAEAE23  Medasy DAL N o 2B £ KN(kaf) YAH-05 110 95 65 - 45 36 90 55 65 40 31 - 76 g
= Modef& Al mm mm mm Extend 2%  Retract®%  Extend2=  RetractQl% YAH-06 163 130 100 80 65 50 108 822 74 50 46 53 98 S
=] YAH-04 21404 75 10 21 365 340 118(1201)  110(1119) YAH-08 195 170 130 90 70 55 120 912 82 56 52 60 1o =)
=5 YAH-05 21405 85 10 31 432 398 139142141 128(1309) YAH-10 218 190 160 120 95 80 145 1162 107 81 7 85 135 =
YAH-06 2AHOB 130 15 46 110.6 995 416(4242)  374(3816) ﬁ:”fﬁ gi? ;?g }gg }gg }?8 gg }g; }g}g };g gg g’f 1%00 }gj
YAH-08 2AH08 160 20 52 172.8 162.6 650(6627)  612(6236 - :
YAH-10 2AH10 185 o5 7 2133 197.9 802§81 so; o 557590; YAH-15 307 275 230 170 140 123 212 167 160 1346 1175 135 198
YGH-10 2GH10 185 25 82 205.1 190.2 772(7866)  716(7295)
YAH-12 2AH12 205 30 91 251.5 235.0 946(9646)  884(9013) — _ .
YAH-15 DAH15 255 23 117.5 367.5 356.7 129.6(13230)  125.8(12841) wosems _ | = L3 _ £5 = = L5 o JLJ e L g e L)
YAH-04 72 13 16 - 9 18 - 5 78 22 12 13 3
Y AH-05 77 14 16 - 5 25 - 5 84 2 12 13 8
5 : o . YAH-06 1235 11 825 55 15 30 6 5 135 34 19 15 0
Spec At Mac operaing pressire Na%ng'mssﬂglifgged TO_tallzlea;(Igge Weight @ Matching chuck YAH-08 130 12 885 55 15 30 6 5 1195 39 19 20 0
HINE 7 HaAZE " =R 5 Moment of inettia Hex YAH-10 143 12 955 55 15 35 6 5 1265 44 19 25 0
Modef& Al kg /o rp.m(min”) £/min kg N (kgf.m) YGH-10 1495 14 9%55 55 15 35 6 5 1285 44 19 25 0
YAH-04 35 8000 16 57 0.16(0016) CAH-04 YAH-12 1625 14 1085 55 15 35 6 5 1415 49 19 30 0
YAH-05 35 7000 16 67 024 50.024; CAH-05 YAH-15 165 20 99 6 20 45 9.5 6 1737 405 175 24 1
YAH-06 408 7000 30 120 074(0075 CAH-06
YAH-08 408 6200 35 155 196(020) CAH-08
YAH-10 408 4700 42 230 343(035) CAH-10 weews "% 112 113 114  L15  L16 T 2 T3 T4 5
YGH-10 408 4500 45 292 480(049) CGH-10 YAH-04 130 73 - 95 50 6-M6X14  M28XP15 - PT-1/4 M4x7
YAH-12 408 3800 45 310 569(058) CAH-12 Y AH-05 137 76 - 100 50 6-M6X14  M38XP15 - PT-1/4 M4X7
YAH-15 408 2800 70 52 147(15) CAH-15,1821,24 Y AH-06 178 75 36 120 40  6-M10X18  MS55XP20  MS52XP15 PT-1/2 M5X10
Y AH-08 186 81 36 130 40  6-M10X18  MBOXP20  M58XP15 PT-1/2 M5X10
YAH-10 205 95 36 150 40 12-M10X18 M85XP20 M84XP20 PT-1/2 M5X10
YGH-10 217 107 36 166 40  12-M10X18  MOOXP20  MBIXP20 PT-1/2 M6X10
ey : = IR 9| & & YAH-12 230 107 36 166 40 12-M12X22  M100XP20  M99XP20 PT-1/2 M5X10
Outward Drawing/5} 24/ JHIE/ <1 8 YAH-15 2525 134 20 215 40  12-M16X32  M130XP2.0 - PT-1/2 6-M6X10

-l

YUIH L) - I YAS []-CJLIL]

.....................................

L5

Cvlinder Size  Blank | Standard Cylinder Size
. | : CA | Coolant Collector Bank I Standard
2 : s CB | Coolant Collector + Proximity Switch n andaar
| Cylinder Model A | Big Bore(E2&E#) | v C | Check Valve Type
| 295 G | Great Bore(CH 2+ &) P | Proximity Switch Type

T | Check Valve + Proximity Switch Type

YAH-04,05

22 | www.seoam kr CHUCK |23



SUPER HIGH SPEED BIG BORE HYDRAULIC CYLINDER
BABAMI/BSEFZTE R LB L& — /2 DS EREES A2

YSH

Outward Drawing/4EUE/ AR @ 8 =

1 - Compatibility The mounting face and major parts are mutually compatible with YAH
type cylinder. 2 - Small Size & Light Weight It is 30% shorter than YAH type cylinder
sothatitissmall in size, light in weight and high speed rotation. 3 - Safety Guaranteed It
contains check valves so that pulling force is kept for a certain time upon power failure,
securing safety. 4 - Leakage Prevention Design(Patent Registration:0172805)
Cylinder body is designed with a leakage prevention structure to totally eliminate the
possibility of leaking. 5+ Highest Draw Pull As weight is reduced and draw pull is
increased, it gurantees the best machining efficiency and stronger power.

1 RAN SN YAHRORELS TR ARSI . 2+ VD, B85 @ SYAHRUEHTBLKEBET 0%,
BEERVD, E8E, SRUHME. 3 RiETS | HEE MIERa R S, EART R
Bikfitrz . 4 BttRRHER R 0172805) | EERICEWCEES R, T HR R TRt
S HIEA : S AT EE R RIIHIAR, PR RERW R SR0EAMN 1.

1. 55 2.0\, BE( 3 R2ER 4. BEbLREEHFEE) 5 A SAHAHD

-
N
1
1TITT
L16

1.584 88 2. 288 s 3. 00 g8 4. SQuK H(S5520172005) 5 52 Al £

Y¥SH-05,06,08,10,15  YSGH-08

T i ion/ R~/ AR/ AT & T
S Specifications /A&/ T/ AL & Dimension 2ol S
= ‘-------- =
= =
Q ---- YSH-06 165 130 100 80 65 50 108 82.5 74 50 46 53 98 Q
= | BEndYS  Rerat % Edend s Reracels Ysto8 1% 10 130 9 70 % 126 w0 81 % s 6 113 =
=) YSH-05 2SHO5 105 67.15 64.47 25(2549) 24(2447) YSGH-08 210 190 160 120 &5 70 154 111 100 715 68 75 145 S
= YSH- 06 2SHO06 130 16 46 107.29 9553 39(4025) 35(3586) YSH-10 222 190 160 120 95 80 164 121 110 81 77 85 155 =
YSH-08 25H08 156 22 52 159.77 148.62 576(5879) _ 53.5(5469) YSH-15 307 275 230 170 140 123 216 167 152 122 1175 125 198
YSGH-08  2SGH08 170 25 68 179.6 166.2 66.8(6814)  61.8(6306)
YSH- 10 2SH10 185 25 77 209 193.9 77.9(7944)  72.1(7357)
B ome = 3w e B0 s w D™ e e w6 w6 e
YSH-05 942 6 7 5 995 0
YSH-06 973 7.4 725 6 15 30 7 5 102 37 21 16 0
YSH-08  100.1 8.9 74 6 15 30 7 5 1052 43 21 22 0
YSGH-08 1052 127 76 5 15 35 7 5 1025 46 21 25 0
YSH-10 1152 127 86 5 15 35 7 5 1125 46 21 25 0
YSH-15 1415 185 102 6 20 45 9.5 6 163 463 233 24 1
YSH- 05 408 8000 3 7.3 0.09(0.010) CAH-05
YSH- 06 408 7000 3 95 0.20(0.021) CAH-06
(Il HE DD o0 4 il JEEDESD nial YSH-05 1341 665 115 6-M10X18  M42XP15  M44XP15  PT-3/8  4-M5X10
YSH- 10 408 5000 4.2 16.8 0.81(0.083) CAH-10
Vot 15 408 2000 ; A T YSH-06 1356 78 42 120 55 6-M10X18  MS5XP15  M52XP15 PT-1/2  4-M5X10
- 18,21, YSH-08 140 80 36 130 55 6-M10X18  MEOXP20  M58XP15 PT-1/2  4-M5X10
YSGH-08 155 88 40 149 55 6-M10X18  M75XP20  M74XP15 PT-1/2  4-M5X10
YSH-10 165 925 40 165 55 6-M10X18  M85XP20  MB84XP20 PT-1/2  4-M5X10
YSH-15 214 140 40 215 55 12-M16X32  M130XP20 M124XP20  PT-1/2  4-M6X15

CHUCK | 25



COOLANT COLLECTOR Y AS CLOSED CENTER HYDRAULIC CYLINDER
BIPBRWER/2 -5 baLy 2 —/ZRE SE s/ S RPEREEHEIY U > X - /DS54 3| Mgt 2l

1 - Coolant Collection Attached to the rear part of the great bore 1+ Economical Model Itisthe most economical model and when a bar workpiecs is not
cylinder, it performs the role of collecting and circulating coolant used passed through headstock. 2 < Horizontal-Vertical Type Available As it can be
during machining. 2 - Checking Cylinder operation As proximity instaled horizontally and vertically, it is mainly used for a vertical lathe. 3 « Small size &

switchs(2E A) in non-contact method detect the location of detection
ring assembled to the end of piston and check whether cylinder is
operating, it can be used for interface of automated devices as well as
prevention of danger.

1 BRRDR  REZ REARARERIING S, kiR ET TR ERN R R

Light weight By using aluminum alloy of mold casting method, it is simple, small in size,
and light in weight. 4 - High Speed Rotation Safety is ensured at high-speed rotation by
thorough balance management.

1- 478 : k= RERNELFENERHL EIHAFIEHENEATER. 2. kT52E

ZEYT  HESHERBILR TR PR ETEETR. Bt TRREURERL. 3 - #F0),
ESE: HISHDEHMIRALESHEN S AT, RItERSHES, ), EEENHS.

- .ﬂﬁ{

W
i
¥

{
.{\ 2. N BRI © e TP ST 0 SN Aok A T B e B 4 LSl 1 IiERLIEE.
HENTHE RIS STRER. TUS5 HEHEE SR REIEHRS TURLRRER 4- B AT TFAIENEE IS B AT AR T,
' Lk 1@ erL 2. KTREERTE 3.1 DBE(E 4 BEEE

_-'""-——.._____.-—“'"F? . N N N =7

L 1+ DBIRENY 20 > > KB AR 1-Z2M50l 99 258 38 M85 3- 48 By 4. 12

1. @M% 8% 2. 480 3539 &2l

Outward Drawing/4 R/ AFHE/ 2 & =

Outward Drawing/4} EUER/ARIR/ 2 & &

2-PT3/8 15

2
S
=

280
364

2
5
=
c

; Dimension/R~I/T A&/ A+ &

zz
s ooy “™F C D E F G U L2 183 L4 5 L6 L7ma L7mn Ti T2
e s YAS-65 100 80 60 20 13 145 111 65 - 1005 30 45 30 6-M8X16 MI2XP1.75
YAS-80 110 90 65 25 17 145 111 65 - 1005 30 45 30 6-M8X16 M16XP2.0
CA| Codlant Collector / AHIEINER/ 7 — 5> 1 11 5 & -/ Bere Ba YAS-100 135 100 8 30 21 168 134 815 65 1235 35 45 25 B-M10X19 M20XP2.5

YAS-125 160 130 110 35 25 178 144 915 65 1335 40 50 25 6-M12X22 M24XP3.0
YAS-150 185 130 110 45 305 185 151 985 65 1405 45 55 25  6-M12X20 MB30XP3.5

Dimension /=1 /-1 ER/A + & YAS-200 245 145 120 55 37 2085 1745 122 65 164 60 69 34 6-M16X29 M36XP4.0
T . Ot
iy TR T T2 T3 T4 T5 1 Z2  Maching Cylnder/® 82D Specifications /Afii&/ (R ALY E
CA-06 90 ¢ 88 $94 121 61 725 34 YSH/Y AH-06 S - o T T
i i i ISton surface area ax. Uraw par

CA-08 100 6100 % 106 %132 67 785 34 YSH'Y AH-08 pes Order NO. S e TAR Sroi o Sl e KAk
CA-10 125 $125 6132 158 80 825 34 YSH/Y AH-10 —— F2H3 nm o ORI el WY ) T
Etalle 0 alles ohlss 2 i St 34 YSWYAH=12 YAS-65 2AS06 65 15 330 300 12201245)  112(1443)
CSG-08 142 $143 ¢ 154 6177 925 885 37.5 YSGH-08 YAS-80 2AS08 80 15 50.0 450 184(1877)  16.5(1684)
CG-10 142 %143 ¢ 154 6177 925 88 37 YGH-10 YAS-100 2AS10 105 20 865 795 318(3244)  29.3(2989)
YAS-125 2AS12 130 25 1325 1230 488(4978)  453(4621)
YAS-150 2AS15 150 30 1760 1600 648(6610)  60.0(6120)
YAS-200 2AS20 205 35 3300 3060 1216(12404) 1128(11505)
Spec MY Max operating pressure  Maxpermissblespeed  Total leakage Weight GD? Matching. chuck

ATAE YUY A OAE S M4 S e QIF == Moment of inertia g ,E"ngﬁ U
‘ A —_ ModeAl ko /o rp.m(min”") £/min kg N- mi(kgf.m)

......................... YM-SS 40.8 6000 1.0 3.2 0.11(0.011) CAS_04
Oviinder Size YAS-80 408 6000 1.0 43 0.29(0.03) CAS-05
YAS-100 40.8 6000 1.0 5.3 0.49(0.05) CAS-06
YAS-125 408 6000 1.0 7.4 0.88(0.09) CAS-08,CAS-10
YAS-150 40.8 5500 1.0 10.3 1.47(0.15) CAS-10,CAS-12
YAS-200 408 5500 1.0 195 3.62(0.37) CAS-150]4A}

26 | www_seoam Kkr CHUCK |27



2
S
=

YASC

CLOSED CENTER HYDRAULIC CYLINDER(CHECK VALVE Type)
PR (e (R

SRITHT ) 5-(7 2790 THRE) 24348 SRRUNRY (1382454

104

2-PT3/8

1 - Safety Guaranteed It contains check valves so that pulling force is kept for a
certain time upon power failure, securing safety. 2 «+ Easy Repair & Check
Thanks to easy access of chuck valves from outside, it is possible to repair and
check them while cylinder is attached to the equipment 3 « High Performance
and High Quality It contains check valves in YAS cylinder, having excellent
performance and quality, and its parts are compatible with YAS.

1-REZE KRR IIHEE AR, S, EHNTRE—RIE RLHRTE. 2+ BTN %
BT EHREROR, SREniT B &L AR THEEmEN. 3 - e, REF R
St EE HLEHE AR NYARID L. HER MTHAR A8 L E, E MRS YASERE.

12207 2 -WEs@ErEs 3. Bttt 55

1.0/ st 2.EMA0| 20| 3-1M5- IEF

@80
364

Dimension /X~ / AR/ =7

Mod el&4! L
YASC-100
YASC-125
YASC-150
YASC-200

C
135
160
185
245

D E

100 80
130 110
130 110
145 120

F

30
35
45
55

|
|
|
|
|
|
|
[
26 HE
aF
BENT
20
ac

PT 1/4 ., 1

G

21
25

305 2155 1815 985 37 171 45 55 25

37

Specifications A&/ It/ ML E

Spec.AtY

Mode & Al

YASC-100
YASC-125
YASC-150
YASC-200

Spec.AY Max. operating pressure Maxpermissible speed

Model&Al
YASC-100
YASC-125
YASC-150
YASC-200

28 | www.seoam kr

Order NO.

F2Us

2ASC10
2ASC12
2ASC15
2ASC20

M RUH

kgt /ert

L1 L2 L3 L4 55 L6 L7max L7 min T T2

198.5 1645 815 37 154 35 45 25 6-M10X19 M20XP2.5
208.5 1745 915 37 164 40 50 25 6-M12X22 M24XP3.0
6-M12X20 M30XP3.5

239 205 122 37 1945 60 69 34 6-M16X29 M36XP4.0

Cylinder Dia Piston stroke Piston surface area Max Draw bar pull
Aoy DAEAEZS DAE CHHA o Al2IE 8 KN(kgf)
mm mm Extend &= Retract 91= Extend &= Retract 915
105 20 865 795 31.8(3244) 29.3(2989)
130 25 1325 1230 48.8(4978) 45.3(4621)
150 30 1760 1600 64.8(6610) 60.0(6120)
205 35 3300 3060 1216(12404) 1128(11505)
Totalleakage Weight GD? "
HTARE HA Ec2 ol 53 Moment of inetia 2 gy oK
rp.m(min”') { /min kg N- m(kgf.m) e
6000 1.0 7.0 0.49(0.05) CAS-06
6000 1.0 9.8 0.88(0.09) CAS-08,CAS-10
5500 1.0 133 1.47(0.15) CAS-10,CAS-12
5500 1.0 21.7 3.62(0.37) CAS-15 O[Af

CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
TSR RS SRR Y ) 5 (21 o7 BT AR 04 548 3R SUAR (ZHAY #2715 %)

1 - Detection of Operating Location With attached proximity switch, itcan be
used for interface of automated devices because it is able to detect the movement
of cylinder pistons. 2 + Miniaturization & Lightness As it adopts non-contact
method of small detection rings, it is hardly defective and has excellent safety at
high speed rotation. 3 - High Performance and High Quality With a proximity
switch attached to YAS cylinder, it guarantees excellent performance and quality.

1 WMETER : BT HESERMIHEETX, 75 BxiThlREESE, FEME R
HEENETER. 2. 0, 28 | REFBILFA I MES IR, BRHERE
BeEiEnrelt. 3. et FEY : tESHERBILEHEER By ASHE B
il RITR ERROUEREE.

1. BMERE 2. (EEEt 3. 544 558

132 9% #& 2- 28 Zays 3. 14

or
]
HH
I

Dimension/R~]/T&KR/ X+ &

ey ©"¥F C D E F G LO L1 L2 L3 L4 L5 L6 L7max L7 min T T2

YASP-100 135 100 80 30 21 236 155 134 815 65 1235 35 45 25 6-M10X19 M20XP25
YASP-125 160 130 110 35 25 246 165 144 915 65 1335 40 50 25  6-M12X22 M24XP30
YASP-150 185 130 110 45 305 253 172 151 985 65 1405 45 55 25  6-M12X20 M30XP35
YASP-200 245 145 120 55 37 2765 1955 1745 122 65 164 60 69 34 6-M16X29 M36XP4.0

Specifications /4&/ AR/ ALY &

Spec.AY Cvlinder Dia Piston stroke Piston surface area Max. Draw bar pull
OueLNd  Wauod  mAEAE=3 AL CHIE o Alzic| %2 KN(koh)
TE O
Modef&Al mm mm Extend 2% Retract 91 % Extend &% Retract 915
YASP-100 2ASP10 105 20 86.5 795 31.8(3244) 29.3(2989)
YASP -125 2ASP12 130 25 132.5 123.0 48.8(4978) 45.3(4621)
YASP -150 2ASP15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASP -200 2ASP20 205 35 330.0 306.0 1216(12404) 1128(11505)
SpecAt¥ \ax operating pressre Maxpermissblespeed  Totalleakage Weight GD? Matching chuck
HIANE RYE DA E| M4 S50 = Moment of inertia e
Model /4! kaf /ot rp.m(min”') £ /min kg N-m (kaf.m?) e
YASP -100 40.8 6000 1.0 58 0.49(0.05) CAS-06
YASP -125 40.8 6000 1.0 7.9 0.88(0.09) CAS-08, CAS-10
YASP -150 40.8 5500 1.0 108 1.47(0.15) CAS-10, CAS- 12
YASP -200 40.8 5500 1.0 20.0 3.62(0.37) CAS-150(4f
CHUCK |29

2
S
=



CLOSED CENTERHYDRAULIC CYLINDER( CHECK VALVE+PROX IMITY SWITCH Type)
AR | SRR EElE o ) -7 07 AR 4 o PRI R D45 N S BERL 420 322 U RN A 52 755

1 - Combined Structures It has a combined structure (YAS C+YASP
Type)with built-in check valves and attached proximity switch in Y AS-
type cylinder. 2 - Small size & Light Weight With YAS-type cyiinder
as a basic specification, it is hardly defective and guarantees excellent
safety at high-speed rotation. 3 - High Performance and High
Quality With check valves and proximity switchs, it guarantees
excellent performance and quality.

1- 5551 RNERARANZAARTRAEVAREE ML, BRERE S
(YASC+YASPRDEIFHAL. 2 « fFL), BEE : HtESEHEFILLYASEZE BLHIANE
HER, fRh, RESEIENT M. 3. HaHt REY  HESHEMITHES
BRI X RIRIEL BRl SERRE.

1-gamngs 2. EBERt 3 -5tk s0E

1.2850 75 248 Zus 3145 1EF

YAST

YMS

CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
e T (SRR ) LB ) V4 - (R 1 v F BT RER) U4 FAY SRAR (ZHAYA| 1)

1. Short Length(Flat Type) As the length of the cylinder is short, the length of equipment is
short Thus efficiency rate is high. 2 « Center Through Hole Secured The through hole at the
center axis of the cylinder can be utiized for coolant or air spray. 3 - High Operation Speed By
minimizing the ail path length and enlarging the oil path diameter, high operation speed of the
cylinder is achieved. 4 - Safety Guaranteed With buit-in check valves, pull force is kept for a
certain time upon power failure. Thus safety is secured. 5« Detection of Operating Location
With a proximity switch attached, it can be used for automation interface by detecting the movement
of the piston.

1 BiMcERSE, ERENKEDBNNEE WMRaEURY. 2 EMINPUIVYRRAR YR
WRE WG EREER (6). 3 - Ml BRKERTR ML, T ROBRE, MM HIIHE =,
4. HEROMITHEEAR, S, EONTRE—[TE BigRTe. 5 dTHESEmIHEaaT
X 5 BERIRERE, RN ORI AR TR

1-RapEW(RYL) 2. V2 -B@THR 3 5881 4. 22%FE 5 - FoERY
1-Zo07t %2 (4 2. 54 #54 &5 3-AE250 =7 4- M &R 5. 25 i A&

Outward Drawing/4EIER/ AR 2 & =

S R S
= s - E
Fl==e =
o iz o
5 L5, LB
g i NI ; g
= | g
rc" 3 - | 2| 2 4 o m
= = = 1 = _le: ‘“H I gia g 8 = =
= = |
1 D 2
1
| ! L3 5
L2 |
Dimension/R~I/~TAFR/A T & 8 " i
woreigy ""¥F C D E F G Lo L1 L2 L3 L4 L5 L6  L7max L7min T T2
YAST-100 135 100 80 30 21 2666 1855 1645 815 37 154 35 45 25 B-MIOXI9  M20XP25 . . p A=
YAST-125 160 130 110 35 25 2765 1955 1745 915 37 164 40 50 25 B-MI2X2  M24XP30 Dimension/ /X1 /T AR/ A = &
YAST-150 185 130 10 45 305 2835 2025 1815 98.5 37 171 45 55 25 6-M12X20 M30XP35
YAST-200 245 145 120 55 37 307 26 205 122 37 1945 60 69 34 6-MI6X29  M3EXP40 wiezy ™% C D E F G H J K M L1 L2 L3 L4 L5 L6 L7mal7mn L8 L9 TI T2 T3
AT 9% L . T L L T S L Ml YMS-105-15 180 128 85 36 21 6 16 18 28 130 1175 57 135 46 28 53 38 23 25 6-M10 M20XP25 PF3/8
YAST-245 305 220 160 65 50 397 302 256 166 45 249 67 85 25 6-M20X30  M42XP30 YMS-120-20 192 150 120 36 21 6 16 18 28 139 165 65 155 46 28 53 33 23 25 6-M10 M20XP25 PF3/8
YAST-250 314 282 160 65 46 397 302 256 1§6 46 2t9 67 85 25  6-¢18THRU mmsﬂ YMS-135-20 225 160 120 36 21 6 16 18 28 139 165 65 155 46 28 58 38 23 25 6-M10 M20XP25 PF3/8
AST-2505 05 _F5 180 6 0 P8S N7 178 145 - 1M5 60 BS 25 12WRD 2630 YMS-140-25 225 160 120 36 21 6 16 18 28 144 1315 70 155 46 28 58 33 23 25 6-M10 M20XP25 PF3/8
s . — YMS-150-35 250 175 120 40 25 6 20 18 28 164 1515 90 225 46 28 63 28 23 25 6-M12 M24XP30 PF3/8
Specifications /A& /T A S H e
— : : Specifications /3{&/ JMNYE
Modselﬁ'%o ;‘;T . "10'“ rr;g\ ExleBr‘g%lé Helr;gc! o1% Exterg %_8.3244) Retraczig ?5|§939 : Spec.AlY Order NO. Cylinder Dia Piston stroke Piston surface area Max Draw bar pull
YAST-1 1 105 .5 5 1 d Al i A OAE CHHE AR =
YAST-125 2AST12 130 25 1325 1230 48 8(4978) 45.3(4621) A FEHS gﬂ._lnl::nmg ulﬁmfﬁ L B e o s [
YAST-150 2AST15 150 30 1760 1600 64.8(6610) 60.0(6120) Moderd 4l Extend &= Refract 21% Extend &= Retract 915
iﬁiﬁi?& 22//\\33;22& %(5) % 33330-0 33?06é0 g:ggﬁgﬁ; H gg((nggg YMS-105-15 2MS10 105 15 83.0 764 31.2(3183) 28.7(2930)
AL Rl 228 20 > = 2 A L= A YMS-120-20 2MS 12 120 20 1095 1029 41.2(4200) 38.7(3946)
YAST-245 2AST 24 245 60 4708 4382 1732(17671.9) 1612(164502) YMS-135-20 2MS13 135 20 1419 1329 53.4(5442) 50.0(5097)
YAST-250 2AST25 250 60 4902 4577 179(18400) 169(17200) YMS-140-25 2MS14 140 25 1539 1437 57.9(5902) 54.1(5511)
MASTEESS 2SS =0 . 2808 =0 JEOUEST0 LTS YMS-150-35 2MS 15 155 35 1886 176.1 70.9(7233) 66.3(6754)
Spec. AlF mxaommlgu :ta hh\;-l I-S-;I ipeed Toétal Ielaklgfge We'e;l GD 2 Matching chuck
5| TAIR 924 5| TAIR 2| K4 =20l EH Moment of inertia . ) ;
ModersiA] kg t/er ro.m(min’) ¢ /min kg N-rr (kg f.m) SpecAtd Max operdling pressire Maxpermissble speed  Tofal leakage LTI e Matching chuck
YAST-100 40.8 6000 10 75 049(005) CAS-06 DA [ FHIMZE H = M = Moment of inertia Hex
xgﬁ’g‘g 38-3 6000 10 10.3 ?ﬁgﬁg-?g CAS-08,CAS-10 ModelAl kaf /art rp.m(min™) {/min kg N-m* (kgf. m?) B
YAST-200 408 20 " s 362037 e YMS-105-15 408 6000 1.0 11.0 1.52(0.16) CAS-06
YAST-200S 40.8 5500 10 24 042(005) CAS-1501A YMS-120-20 40.8 5000 1.0 11.8 2.11(022) CAS-08
:2215320 33.3 5500 10 24 042009 CAS-15014 YMS-135-20 408 5000 1.0 132 3.20(0.33) CAS-08,CAS-10
YAST-250 408 2000 I3 38 _ A YMS-140-25 408 5000 1.0 145 3.92(040) CAS-10,CAS-12
YAST-250S 40.8 2000 10 38 - CAS-4050 63 YMS-150-35 40.8 4200 1.0 175 4.60(047) CAS-12

30 | www.seoam kr

CHUCK |31



3-JAW SCROLL CHUCK
ZEMEBROFE/32ESF +v 2 /3-22 HEH Outward Drawing/4}pR/ SR 2 & =

1 - General Model This chuck, with bothKS and JIS Standard, is most widely used for i

general purpose lathes. A separate adapter is used when attached to a lathe. _\

2 - High Quality & Long Durability Internal stress and deformation have been e
precluded by using high quality cast body. The major parts are made of heat-treated S
alloy steel Good durability has been achieved due to extended abrasion resistance and
improved quality. 3 « Compatibility Compatibiity of major parts such as ajaw has been G
enabled thank to quality standardization and precise dmension management 4 « Parts 1
External jaws are attached to the chuck and internal jaws, fastening handles and
mounting screws areincluded as standard parts.

158 : IEARAKSTUSITE MR ATEAABNER L. AR, R T B "1
2-FEY, HASHE  IFESSREASHSEMIH, Bit, THEANDEAENTE. Sk " 9 Q
HERANFRIMB NS SIHE, BILEEREE TER GRSsKNES 3- 25k é Q
TEE MBARTENSS—NENTE BN ISHenEIZEaRst. 4 - K 1 ‘ #
B R SEMTRTESE, BNTEE AN L SEEMEEE FRTTHR ‘|

1-B6-BonEFL 2. 55% RVFH 3. Bt 4. (4BS I

oouooouDT
')

L
i
HIA

1-7/% Qus 99 2. 089 2 28 3-384 4.94%

Specifications A&/ TR/ AL & Dimension/R~/T A&/ XA+ &

- oD Item&S
3 SPeNE  orger  Chudc sze Moo PRI Gripping Dia 1ot Weicht  Vatprmsilsst o dei4 A 2 c D E F é H ! ! & 3
NO. el IOk 38  HIMEHS _ -
- . oriiE . p_:n§m§ uL_.fa External (@) Internal (2) el et MS-3 85 45 73 60 16 7 35 146 3-M6 35 11
S ModelAl 9 MAX.mm  MIN.mm MAX.mm ~ MIN.mm MS-4 110 58 95 80 24 8 4.5 176 3-M8 42 14 E
Z MS-3 00103E 85 16 900 70 2 64 24 1.5 2500 MS-5 130 60 115 100 32 8 45 20 3-M8 50 16 Z
c MS-4 00104E 110 24 1200 95 3 84 29 35 2500 MS-6 165 65 147 130 45 10 5 o5 3-M10 65 19 c
IZE MS-5 00105 130 32 1500 110 3 100 33 45 2500 MS-7 190 75 172 155 o " s 0 3-M10 75 2 I:g
A MS-6 00106E 165 45 3000 160 3 150 48 75 4000 Ms-9 030 ) 210 190 0 12 6 a M1 &5 o A
I MS-7 00107E 190 55 3600 180 4 170 56 115 3500 T
c S0 S 2o 3900 220 . 210 62 ' 2500 MS-10 273 86 250 230 85 12 6 40 3-M12 98 28 c
Q MS-10  00110E 273 85 4500 260 5 250 70 26 2500 MS=12 s i s 1 ! b S-Mi2 — o
MS-12  00112E 310 96 5400 300 10 290 86 38 2200 MS-14 355 110 328 300 100 14 7 63 6-M12 1388 3%
MS-14  O00114E 355 100 4050 315 25 290 107 54 1500
H Chuck Size
Blank | Standard
T | 2-jaw type
= { _F |-4Tiaw type \
& ' S| 6-jawtype bt | :
— — m - y U | Twoplece ja = “A!
- -
S
A [

E

32 www.seoam kr

> 4



MST . MSF . Mss 2-JAW, 4-JAW, 6-JAW SCROLL CHUCK
AL T, AMEELAR2OM 4O 67 s+ v7(2-9, 152, -2 HEH

» Clamping Irregular Works Diverse scroll chucks suitable for all shape of works
are available, which can give you the improved precision and productivity. Since it is
manufactured and managed the same as the standard MS type scrall chuck, it
gurantees high quality, long durabiity and compatibility. Itis classifiedinto 2Jaw (MST),
4Jaw(MSF) and 6Jaw(MSS) in accordance with the number of attached jaws.

EEFTPNTY  AERENEE OFETE SEMPANTY, AELEES THYEES. L85
MSEIFEEERMEF TG BEERES FAGs KRBIEMES. REFELFTHE
8RR, THARIT(MST), BT (MSF), FISTUMSS) BSEAFE.

ENTHNEE-THNOEFIN-E) EBF v v/ 4 EETHOT, MIBECAERIRLLET.
BERMSHEHF vv s ALL I CEELEEINTVANTE SE, §5, BRBEFRETT.
BT T & 3MO¥ &4 2 2JUMST), 4 2NMSF), 62/IIMSS - RPEh £ 7.

OE3E B BYSY 2 B Y= USHES HYHDE HBHUE S Y4 2 HNY0| HYEL
o EFY MSH HSHT SUsHI ANED Balsoz IEW 2 49, 384 50| YL L2
= &9 £3 mat 2522 (MST), 4£22 (MSF),6E2(MSS)Z F+2ELICH.

TWO PIECE JAW SCROLL CHUCK
PEF AT EER R OFR/ MABEEH T+ v 7/Z22 22 2 EH

1 . Jaw Detachable Scroll Chuck It has an improved structure from standard scroll
chuck model so that jaws can be detached, and thus the scope of has been enlarged.

2 - Easy in Precise Processing It is good in exchanging preciseness by grinding
serration part, and is very easy in precise proc essing since it use formed soft jaws.

3 - Contribution for Increasing Performance With hard jaws attached to the entity,
you can perform internal /external clamping(circular sticks and ring type) without
replacing jaws so that the performance is improved. 4 - High Quality, Long
Durability High quality casting body prevents the stress and deformation, and since the
major parts are made of heat-treated alloy steel, the abrasion resistanc e, quality and the
durability are improved and extended. 5 - Compatibility Attached parts, specification
and size are the same with MS Type, and the Jaw configuration is improved to increase
the work performance. Jaws are easy to replace, and the major parts of scroll chuck
and jaws are compatible with MS’s so that the work scope is wide. Uniformity in quality
Rl and the exact size management make the exchange of major parts possible. 6 - Parts
Hard jaws are attached to the chuck and soft jaws, fastening handles and mounting
screws are included as standard parts. Additional soft jaws, hard jaws, handes and MS
Type interna and external jaws can be purchased separately.

1A : FENGEEIER 8B O-FENEM LK, FNTRT. XSNANCEE
2. 2 BHRENT : RAEEDRENALSHRUTRE. dFEA TSN BRI THRNT.
3. MalE  FENENSFEMEE ENTRENIF T4 AREREEF, RUTNARESER, REENRANES. 4- REY, BA%
s LFERRASRERVIH, Bit, TPEANDFANTE. EtMHERASE NS ERE REAERES, WER, KRN K
B S« REM C AENER A, RTSMSE-%, BFMNSHARENH, RItHRAARS, F15TEL. Bit-FENIERRINS
ZS%%%%T%;E%—MEENMMEERT RitBAREM. 6 - Bl Bt e EERFRT RS, BNTEE R L. SEHAXEN
G 4.

1. MAsREgFvv s 2-FENIES 3-4EMMLCES 4-558 &Fs 5-B#M 6. 1ES

1.-z72 2218 9S8 2-HUIIZ 80| 3- M4 #4070 4-DEF, A4Y 5-584 6. 94F

6 Jaw Scroll Chuck (MSS-Type) - Itisconvenient
for machining hexagonal workpieces and suitable for
heavy duty machining that requires strong gripping

2 Jaw Scroll Chuck (MST-Type)
*« Good for machining irregular
workpieces such as valve parts, pipe

4 Jaw Scroll Chuck (MSF-Type)
It is convenient for machining
square workpieces. It minimizes the

MDNHD TVANVINL 9

connection parts, efc.

B R NTRANSHE, BFE
SBHAZRTN THE, KIFHEHN

gk, WATHTEED. FREENTETE  SENNBANDE. FAEENTETEEBHEINT e
. . WENBENI &8, THEAR &N R, THEARS MBS, <
2 OMEHF v v 7o ith & 6 - >
. 6 DEHF v v 7 y Z
252 ASH(MSTType) 4 DEHF v v c
6 2 HEH (MSSType) s =
452 ASH (MSFType e -
(@)
-
Outward Drawing/4}EIE/AHIE/ 21 & = A
=
H M
] ] z
AN %Q Y 0‘9
:——(——}-—i-+ =l Specifications /A&/ R/ AL &
12 POV 0 —
L S || & SpecAl¥  Order  Chucksize Thru-holeDia Gripoing Force Gripping Dia Tkt Weight  Matermisiespeg
i & NO. ol U5 ujote External (@) Internal () ET I It P
| | - =
H H ModelA eoys  mm mm kot MAXMM  MN.nm MAX.mm  MN.mm ko rp.mimin)
e MSU-7 01507E 190 55 3600 180 4 62 170 13 3500
MST-7.9.10.12,14 MSF-7.9.10.12.14 MSS-10.12 MSU-9 01500E 232 70 3900 220 5 70 210 22 2900
MSU- 10 01510E 273 85 4500 260 5 80 250 29 2500
MSU- 12 01512E 310 9% 5400 300 10 9 290 38 3200

deformation of thin circular
wokpieces such as pipes.

AN FE T AR TED fR

force, It minimizes the deformation of thin circular
workpieces such as pipes.

6MBH & cRFANIES, TERPIRIZFEN

Outward Drawing/#M 2B /AFE 2 8 =

Dimension//~/~T&K/ A+ &

Mada i rengs A B c D E F G H [ J K

MST-7 MSF-7 190 75 172 155 55 1 5 30 3-M10 75 22 wooms TR A B c D E E G H | J K
MST-9 MSF-9 230 84 210 190 70 12 6 35 3-M12 85 24 MSU-7 190 76 172 155 55 1 5 383 3-M10 88 28
MST-10 MSF-10 MSS-10 273 86 250 230 85 12 6 40 3-M12 98 28 MSU-9 232 84 210 190 70 12 6 489 3-M12 100 315
MST-12 MSF-12 MSS-12 310 96 285 260 96 14 7 45 3-M12 110 30 MSU-10 273 87 250 230 85 12 6 522 3-M12 110 35
MST-14 MSF-14 355 110 328 300 100 14 7 63 6-M12 133 35 MSU-12 310 96 285 260 96 14 7 52.8 3-M12 125 40
34 | www_seoam Kkr CHUCK | 35




4-JAW INDEPENDENT CHUCK
MMEEFE /4 DTEEF+ v 2 /A-5 2 THEH

Specifications /AIF&/ SR/ ALY &

Spech¥  orderNO. C“;‘;‘I 5=
OHHs
Model&Al mm
3 MI-6 00706 150
MI-8 00708 200
2 MI-10 00710 250
> MI-12 00712 300
% MI-14 00714 350
> MI-16 00716 400
('_3 MI-18 00718 450
T MI-20 00720 500
cC MI-24 00724 600
Q MI-28 00728 710
MI-32 00732 813
MI-40 00740 1000

6 Twww .seoam,

1 < General model It is the general KS and JIS Standard type chuck used to
attach to lathe for general use. To attach it to lathe a additional adapter is
needed. 2 - High Quality & Long Durability Internal stress and deformation
have been precluded by using high quality cast body. The major parts are made
of heat-treated alloy steel, and good durability has been achieved due to
extended abrasion resistance and improved quality. Also, strongpower and big
jaw width enhance the safety. 3 - Compatibility Uniformity in quality and the
exact size management make the exchange of major parts possible. 4 - Parts
A fastening handle and mounting screws are included as standard parts.

5 « Customization For thelarge scale over 40", customized manufacturing is
available.

1. BR% : fFENGKSRUISIE, TRATEERRNERL. L5FKEE, &
EiEERE=. 2. R #ANeK  tFEEARASREHHH, Bit ThH
LFAMNFANTE. HEftHRAZST I EN M, RILBERES WE
R BRGSO, KLFECBEEAMERENRNEANFN RLHGREFE.
3. Bl TRES— SR, ROWEH REFENIZRT AR,

4 - B - BEUHE B EBRMF RS, S - TRRTH AR T40°H, TR
REPHERITHL

1T-Bo-HwnErL2.- 8548 EFS 3 - Bt d4 -(4BR 5687183
#-E2

1-7h8 ot 39 2. 2ZF 21 $H 3. 584 4. 824Z 5. FEMH2

Thru-holeDia  Gripping Force  Max Gripping Dia Weight Max.permissible sed

252 Tt | CftolA = 1A 88 H%
mm kaf mm kg r.om(min™)
40 600 140 6.1 1600
50 1000 185 14.8 1600
55 1400 220 21 1600
65 1600 265 295 1400
75 1700 310 40 1400
90 2000 360 56.5 1200
100 2000 405 70 1200
110 2200 450 90 900
120 2300 550 150 900
140 2350 650 220 700
140 2400 755 270 600
190 3100 910 550 500

Outward Drawing/4} IR/ AFIR 2 8 =

oA

Dimension/R~I/T A&/ A+ H

312
Mogersy MY

MI-6

MI-8

MI-10
MI-12
Mi-14
MI-16
MI-18
MI-20
MI-24
MI-28
MI-32
MI-40

A
150
200
250
300
350
400
450
500
600
710
813
1000

B

60
75
80
90
90
100
105
110
120
120
120
175

C

130
175
150
170
190
210
230
250
300
350
400
460

D
115
155
125
140
160
180
200
220
260
300
350
510

40
50
55
65
75
90
100
110
120
140
140
190

—_

I
4-M10
4-M12
4-M12
4-M12
4-M12
4-M16
4-M16
4-M16
4-M20

8-M20X2.5
8-M20X2.5
6-M24X3.0

55

75

90

100
110
120
130
140
160
180
180
196

W oo oo o O

CHUCK |37

<
>
g
>
o
a)
I
c
a)
~




SPECIAL CHUCK )

FINGER CHUCK HYDRAULIC DOUBLE PISTON CYLINDER
Work : AL-Wheel(op-10)

FINGER CHUCK COLLET & FINGER FIXTURE
Work : AL-Wheel(op-20)

=
NN

(%] w
~ ~
m m
a) a)
> >
-~
@) N
L L
(e Cc
@) N
~ A

. J . J

38 | www.seoam kr CHUCK | 39



DRAW DOWN CHUCK & CENTERING INSIDE PIN ARBOR CHUCK

Work : Pistion
““““ A
OUTSIDE PIN ARBOR CHUCK RUBBER COLLET CHUCK

Work : Pinion gear Work : Motor Rotor ASS’Y

=
NN

(%)
~
m
)
>
=
a)
T
c
)
=

ADNHD 1VID3AdS

40 | www .seoam kr CHUCK |41



FINGER & COLLET CHUCK ECCENTRIC & COLLET CHUCK

DIAPHRAGM CHUCK WEDGE BAR CHUCK
Work : Cup planet carrier

. J . J

FINGER & COLLET CHUCK (AIR CHUCK) LEVER CHUCK

Work : AL-Wheel

=
NN

Work : Caliper housing

(%] w
~ ~
m m
a) a)
> >
-~
@) N
L L
(e Cc
@) N
~ A

. J . J

42 | www _seoam kr CHUCK | 43



o

(%)
2
m
)
>
=
a)
T
c
)
=

WEDGE BAR CHUCK

STATIONARY CHUCK

. J

44 | www .seoam kr

COMPENSATING CHUCK
HERER A CHBERT v v 2 /2N B8 A

1. Center Hole Base Itis optimal when clamping outer diameter of long materials based on center hole.
2 - Self-Centering Even when clamping face is unequal or eccentric, strong and accurate chucking is

ensured by automatically centering 3 jaws based on center hole. (It is easy to chuck workpieces with unequal
outer diameter such as cast and forged parts.) 3 - Compensation of Centrifugal Force Considering effect

of centrifugal force acting onjaws, balance equipment is builtin so that it maintains high gripping force.
4 - Strong Gripping With built-in face driver, C56M performs the entire machining without inverting the

workpiece, so that set-up time is sharply shortented. Whie C55M chuck is pulled to the center shaft and
aripped firmly, itis optimal for making long bar workpieces.

1-WEEOTL : KHAES TREFEDOANKTH. 2§00 DEXREEMTIUIRETBL, =/ bl
HHBE, GVEPL, I TTHATEE, B, WANEE GAWIBLTRNT ALY, DEEIRETE) 3. (08
07 B SRR GB NN, K EARTAEE, RILRRELIRE. 4- BA0E S < coou-tan BE
B ORIIILA, DTS, RiASE THOR AR, MosME BRI Thah o, JEms B
& RS IR Y TS

1oty g—F-LEE 2.@38%k0 3-@0MEE 4308
1.HE & J|E 2. HSSARE 3. A4 HA 424248 59

QUICK CHANGE CHUCK
BB/ oAy o F o2 F vy 7/ HOIX A

1+ Quick Change Quick change of top jaws is possible because exchange, location change and reverse

of the jaw are all achieved only with 180° one-touchrotation of the master jaw eccentric cam.
2 - Excellent Repetition As clamping accuracy is not changed even when reattaching jaws, it is not

necessary to reform jaws.

1. Wi TS TS, 0T EfBEs AT MR A LR 01 80" BT, FEE B TRE.
2. EEEMEES  WEEHEE RN LUREREEE, BRABEERN.

1-BARURH 2-FBNIERL

1-Mz8 2 2-w=4 24

LONG STROKE CHUCK
Kifjigtf/ors2atn-sF vy o /2 AERT H

1. Long Stroke It is a wedge—-hook type chuck with large jaw stroke, and easy to clamp workpieces with
wide work scope and large deviation of outer dameter. 2 < Excellent Compatibility It is possible to
directly be attached to A-type spindle nose with separated standard adapter. 3 - C22M 3JAW TYPE,
C24M - 2JAWTYPE

1 K712 - E2—HKRTIE ABFFIFE, BTEEARTHABREANTIY. 2. FEME  LFETEDMTE
B2 AR T EpEE 3 coom: =T, coaM: TR
1.o0vs2t0-2 2.@Fnt-HEifk 1.2 AEE3 2.58M 24

2 & 3 JAW CHUCK
WA= FE /287 vv 2 /075 &
1. Various Clamping Functions of 2-jaw chuck for irreguiar materials and 3-jae chuck for original

materials are combined together. 2 « Multiple Utilites It uses standard soft jaws and it is a big bore
power chuck to machining long bars.

1 $3EE  BETHNFEA AN THEER= NFEMEATHRENRS. 2+ A8 2 HFEEAEAS D
2 ERINENTRER R IH.

1-28nBE 2-2B80E% 1. crgst mot 2. 028 8

STATIONARY CHUCK
BEFE/EEROF v v /IHE &

1. Station-type Mounting It is a stationary chuck used for driling machine, milling machine and
various jigs and is possible to use both hydraulic pressure and pneumatic pressure. 2 « Diverse
Features C10D chuck, 3-jaw type, due to low height from attachment side, has an extensive scope of
work and is used for general purposes. C24D chuck, 2-jaw type, can accuately determine locations
regardess of clamping deviations of irregular workpieces. C10D chuck, 3-jaw type, is a big bore power
chuck and easy to machinelong bar workpieces and to discharge chips.

1. BRERE : LFETUREEER, BRURSHEEREL. EERERSIHAIEIAN. 2 SF4HIE: C10D
=R ETREVSERE BREATESENEE, AR 2. C2OMN+E  REFINIHEXRERE, I8
hEREBREN. CID=NFE | R FERXBIHNIHFE BTk IHHixE BRERTE.

1-BEXEE 2. 20 1. 384 sz 2.8 53

CHUCK | 45

NN

(%)
“
m
o
>
P
0
I
c
)
A



seOAMm

QT A B A=A
¥ INOUSTRY CO.1T0.

seOAMm

MU | B ZEA S|

SEOAM MACHINERY INDUS

-
NO Measuring Tool Capacity & Model Maker
Universal Performance testing N
1 Machine for Chuck & Cylinder Max. 10,000RPM SEOAM-HWACHEON
2 Cylinder Rotation performance tester Max. 7,000RPM SEOAM
3 Load Indicator Unit DN-10(5~20,000kdf) SEOAM ﬂ \
4 Chuck Performance Testing Machine = SEOAM ;1_ Y
\
. . . 34 \ \ \
Electro—-Dynamical Gripping Force ~ . | \ ‘ , Dae-{eon
5 Measuring Equipement 0~100KN Rohm | ( \ \ \
6 Chuck & Cylinder Durability Tester Max. 2 Million times SEOAM N '
7 3D Coordinate Measuring Machine RS-150DCC(1200 %1200 1000) SHEFFIELD | g
8 Roundness Measuring tool EMD-3200 Federal Formascan g
9 Precision Balancing test Machine H1BK/H30NB NAGAHAMA-SCHENCK i
10 Matalurgical Stereo Mcrocope GX-51(MAX 1,000X) OLYMPUS "
11 Autocolimetor 6D(Min. 05 arc second) NIKON g _
E /
12 Surface Roughness Tester Perthometer M1 MAHR i/
13 Micro Height Guage MICRO HITE(0~500mm) TESA
Hybrid temperature recoder
1 (Mt Point Type) AH3000 CHINO -
15 Sound level Meter CENTER 320(30~130dB) CENTER a -
Operaton area Duration Fre quency
16 Relief Valve Tester Max 60kg f/cit SEOAM Seoul - Gwanglu | SOminute 7
, Seoul - Mokpo 86minuke 5
17 Check Valve Tester Max 60kg f/cn SEOAM T . p
18 Chuck & Ofinder Rotaton Max 3000RPM(24° Chuck) SEOAM O) ErrmErrEETT
Performance Tester(Horizontal) = Guwenglu-Seou | 160minue 10
9 Chuck & Gylinder Rotation . Songungr - Seoul | 170minute 9
! Performance Tester (vertical) Max 1,300RPM(50" Chuck) SEOAM Songungi -Mokpo|  @aminue 9

Operaﬁmarea‘ Duration

Gwan glu - Seoul

210minute

Gwan glu - Pusan

210minute

GwangJu - Daedeon

110minuie

HEAD OFFICE | 738—5, AN CHUNG-DONG, GWANG SAN-GU, GWANG JU, KOREA
2 A2 | (506258 BFLAEA HAT P E 7385
A Wt- T %1 ®506-258 HMIET HILR 2550 738 -5

TEL. 82—62—-960—-5000 FAX. 82—62—951—-9981

E—mail. master@smiltd.co.kr






